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Sri:
Srimad Ramanuja Gita Bhashyam — 2nd Chapter
(Explanations from Tatparya Chandrika of Swamy Deshikan)

Part-1: Slokas 1-25

Iy fgneam:

Now the second chapter starts where the subject matter is removal of Arjuna’s grief. The
fraTerm= starts from 11t sloka and so the first 10 slokas are included as a part of the previous

prakarana only.

Though the last sloka of previous chapter had G Iam=’ here again it is told to remove any

doubts as to who told these as there is a break in chapter.
Shloka 1:
Sanjaya said (Sanjaya uvaacha):

To him (tam), who was completely overwhelmed by compassion (krupayaa aavishtam) like this
(tathaa), who had eyes filled with tears, (ashru poornaakulekshanam), with grief
(visheedantam), Krishna, Madhusoodana, the slayer of demon Madhu (Madhusoodana), told

(uvaacha) these words (idam vaakyam).
Shloka 2:
Sri Bhagavaan said (Sri Bhagavaan uvaacha):

O Arjuna, (arjuna), not what aaryaas are supposed to have (anaaryajustam), not leading to
heaven (aswargyam), bringing infamy (akeerthikaram), this sorrow (idam kashmalam), coming

at the time of crisis (vishame) - wherefrom (kutah) did you get this (tvaa samupasthitam) ?

Shioka 3:
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O Arjuna (paartha), don't take to (maa sma gamah) cowardice (klaibyam). This (etat) does not
suit (na upapadyate) you (tvayi). O one who torments the enemies (parantapa), leave this
(tyaktvaa) petty low (kshudram) weakness of the heart (hrudaya dourbalyam), and get up

(uttishtha).

T IUTAY YT ez STAH ACATY G AT MTeh: Fha aqrerey a = Fawwesr e srfdgaafad

AT TR Iy srfaefs geadiacasd TReed 31T Sy =i sfrmam sam= |

When Arjuna thus sat, the Lord, opposing his action said: 'What is the reason for your
misplaced grief? Arise for battle, abandoning this grief, which has arisen in a critical situation,
which can come only in men of wrong understanding, which is art obstacle for reaching heaven,
which does not confer fame on you, which is very mean, and which is caused by faint-

heartedness.

T SUfA® 9T - Gives the meaning of & TAT FHATIAEH S[UTIFAA0H | fadia=aH | - repeating

the state of Arjuna as told in previous adhyaya.

T AW AT FHAT: Ah: TATHERT — Meaning of T4T is ST#ATH, FAT — means grief
(s=aEfauTE). That also pervaded external senses is said as — S IUTF0H. fAdiawad — means
sitting totally grief stricken. SaT= AHEA: - One who destroyed ## and e who stand for LS
and THE which are the root cause of grief. fSH — means T, FAAH — means 9T here as
told earlier &= EwAT:,

- Krishna is reminding Arjuna of his famous dynasty, valour etc. by the words 35T (one who

faught with Shiva himself and got TTS[TATH), FI=F(ITSTFA¥) or UT, @&T, @, TLqT (T aTIIT)

and expressing his objection or complaint =T,

Fa: - The cause of his grief is not a proper cause at all — it is g@THTH — so Krishna is strongly
objecting, why? why at all this grief without proper reason? This means Krishna is actually
hinting that he never got such grief even during ¥&T9g<9T and other instances where he should

have and having made him his @< if he is turning back like this it is against his Fa&T

(ATeTI=TraT version is AT FA&d =g Hiwdd for FAed AT T TH: 1)
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FAST — HAAH — anxiety — in mula gz ZaFcE

I =9 fawwed e — Al the things told in earlier sloka — SATISEH, FFawH, I HH — are

also reasons for getting rid of anxiety — that is summarized as T &% %W?TJ{

sfag@faT - SATAISE - sra<ayT: TASE: S g ATAT g AT T At g a5 @

TRATHAUTE — In Mula it is 3%a%4H — it is opposed to getting ¥t — here due to absence of any
a9 it is upalakshaka for 9% itself and not just TRt @A

aﬂ%raia{— Shows that Arjuna who is such a great person got into such a low state of mind
geasIaeaFad — result of weak mind, mind which is not firm

Ia1a STre = SR 3a1= - The gist of this &< or section is said here and it is known from

the word T T{<Ig 9¥=a4

Shlokas 4, 5:
Arjuna said (Arjuna uvaacha):

O destroyer of enemies (arisoodana), O Madhusoodana (Madhusoodana), in this war
(samkhye), how can | fight (katham pratiyotsyaami aham) with weapons (ishubhih), with
Bheeshma, Drona (bheeshmam dronam cha) who need to be respected, worshipped
(poojaarhou)? Without killing (ahatvaa) these persons deserving a lot of respect
(mahaanubhaavaan), and teachers (guroon) and others, in this world, (iha loke), even if | live by
doing begging, (bhaikshyam chartum api), it is better (shreyah hi). Even if they are desirous of
wealth, (artha kaamaan tu) killing (hitvaa) these gurus (guroon), here itself (iha eva) how can |
ever think of enjoying (bhunjeeya) the enjoyments (bhogaan), which are tainted with the blood

of the gurus (rudhira pradigdhaan)?

T T AT H S HHATHAT WTageh [QadHH AT 339 ST | HagIofas &1
TEHTAT HIH A GASATIH FAAL HISA (AT qT geaT F: YT AT TF HRT agierer
SUTE=T Ay rEAYy Sufaed i |
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Again Arjuna, being moved by love, compassion and fear, mistaking unrighteousness for

righteousness, and not understanding, i.e., not knowing the beneficial words of Sri Krshna, said
as follows: 'How can | slay Bhishma, Drona and others worthy of reverence? After slaying those
elders, though they are intensely attached to enjoyments, how can | enjoy those very pleasures

which are now being enjoyed by them? For, it will be mixed with their blood.

QALY 9T AR H G HAATEHAT HTageh @A dHe ST 329 3419 - Now Arjuna replies in an

objectionalble tone to Krishna’s 3T&iT as he does not understand the fact that the & which
Krishna asked him to do would lead him 93973 to T¥H{:%=F and hence it is fFaa®. Arjuna had
such T3TT9 due to IFATHHE etc. is indicated as “[AXY in bhashya. Here &g — a=g#z.

HIeHRIoNTiRs — 32 here is as per 19 7 in mula sloka where FFTT gives STHHAFATY.

& 9gA-aAT — In Mula sloka TSTT=( is indicated by aga=a=aT or it could be for HETIHTAT.
They are as it is FgA-a=4T: and being TATHE, gaa= etc they are TATAGHTAT:

T g gASATH — They deserve to be worshipped with flowers etc and not doing so itself is
TTeH and killing them would be stfaaTzE.

Mula sloka — 3TgH TY: TfaareeaTH — gH indicates famous dynasty etc.. | am supposed to fight
against the opponents of T¥s and how can | kill them? is the \T= of giaearia,

HeEEH, FEaT — Arjuna is telling Krishna that he did not do anything like that to his own Guru
AT etc. He killed wg-F=w demons and he is also known as 3*&a" — one who kills

enemies.

Here by the term ¥¢H<, one who had conquered TSTH, THE and was always rooted in <7 is

going to remove the TSI and T which are the causes of ¢ is also indicated.

FIAC - The meaning of Mula sloka geaTi#THT+] & - the T shabda shows this is much more

cruel compared to what was told in previous with 2 — S0 FeFTITHq
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HRISA fAHTE<HI AT §eaT — o7 A= or ST FTHT JUTH - SFAFHTAT: - If they had been FeFmTs

then stealing their ST”T would be tolerated but this is like stealing food from one who is very

hungry.

F: [STHTAT AT TF WITT TG0 Sqre=a qfi= - It is more cruel than killing is meant here. The

pleasures got by killing gurus would bring to memory their being soaked in blood and become

themselves Zud.

AY Ay, ITFAT I - STHAT — THAH AA T AT FIALq: - sitting in their own places
and having food which is FferzsfaseT mixed with blood - becomes faa<ia.

Arjuna says — it is better to take up f¥&mm== which is Brahmana Dharma instead of this &7f=erd.

Shioka 6:

After all, we may win the war (yad vaa jayema), or they may win over us (yadi vaa no jayayuh) -
which of these is better (katarat gareeyah) for us (nah) - this (etat) we do not know (na vidmah).
After killing whom (yaan eva hatvaa) we don't even want to live (na jijeevishaamah), these sons

of Dhritaraashtra (te dhaartaraashrtraah) are here (avasthitaah) in front of us (pramukhe).
Shloka 7:

Of the nature of being not aware of any means (kaarpanya dosha upahata svabhaavah) being
subjected to the confusion as to what is dharma and what is adharma (dharma sammoodha
chetaah), | am asking (prucchaami) You (tvaa). Whatever is cedrtainly (nischitam syaat) of
utmost good to me (yat shreyah me iti) tell me (bhoohi) that (tat). | am your disciple (aham te

shishyah), instruct (shaadhi) me (maam), who has surrendered unto you (tvaam prapannam).

TF JEH AT A=A wadaT gTaagT: TOg) §: 31 A, I, aocdsu asTaTq STEwig TETeh
THTEET ASTAT: O: FAH TF TO: I § Tt i St aq Agf 39 39 Rfdd aq s
7 e 7 giR = stfqwmarsgaon sREcarst sveEms |
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If you say, , ‘After beginning the war, if you withdraw from the battle, the sons of Dhrtarashtra
will slay you all forcibly', be it so. | think that even to be killed by them, who do not know tlte
difference between righteousness and unrighteousness is better for us than gaining unrighteous
victory by killing them. After saying so, Arjuna surrendered himself at the feet of the Lord,
overcome with dejection, saying, "Teach me, your disciple, who has taken refuge in you, what is

decidedly good for me.'

Td IEH A T sTadr gy Y] §74: S 9q, 1&g — The doubt Arjuna is
expressing in the slokas starting with 7 = Tafg=T’ is indicated as Taq

94ad: - Arjuna’s fear that his relatives will get killed will only lead to destruction of his own dear
brothers g+ q, H¥, 7% and others. This is indicated by waa: in bhashya. If so, let it be, says

Arjuna.

TeASHTASTAT STEFATE STEHTH GHTEHT AT F: TATH TF T: 3 &7 A - Here e,
fa=T: all these show that all the Pandavas are shishyas to Bhishma, Drona and others. We do
not want to live killing them and if they, who do not have gwTers-faa, kill us that itself is better
is what | think. Here Sfa«TTfa shows that he is not really sure if they (dhartarashtras) can kill

Pandavas.
7q W A7: 37 AfEd aq e a7 frsama & g2 3 stiimmgaon weest saeEme -

The IUrETRT of a shishya who is 37293 is told in bhashya as o #g[ &= =i [Afae. forew is
ITE14, so bhashya says fa=amr # g7 — mula fereaeasg afer ARy’

\ﬂﬁmwgww: - IUET TATE: - TA9TF is 94 here. Arjuna says ‘| have lost all courage as | am not

aware of any means by which | can get rid of my grief’. It is a state which generates pity in

others — TATSAFA MG (<IH¥d@H. FTIUT is an anga to sharanagati and it means g+ or

FAT=ITTa<d. It also means he did not know what is =TS and what is 39TeT

AT - FSTAAYG says TTH IT4 Ao 7 g1 fafaai=n ¢fi¥:, (considering deeply the two, the

good and the pleasant, a wise man knows to discrimate)
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T ATEIAET AT HATT g IAd AT T 3 IAT I 1l - since he said whatever is definitely shreyas

for me, tell me that. He did not ask about only yuddha but says what is definitely shreyas —

reality principle as opposed to pleasure principle. Like shruti ‘Tgs T+ g4

TTACITRT STHHTR — FASIEd ... T« — is summarized here.

Upanishat says T31&% ATaT w1 ST MeaaqTaTg | Tiasm=re § &aa dAfear=aq | - that
shastraartha is becoming fruitful here. Arjuna who had &= is now doing sharanagati at the feet
of Krishna. One has to approach a guru and for what — knowing only Brahman - afgsieias,
one HAS to approach a guru, and ONLY a guru.

Shioka 8:
7 R et wHTIgET TSRS e e |
AT S[ATITIATEH T8 O T8+

I am not seeing any means (na hi prapashyaami) which will drive away (yat apanudyaat) my
grief (mama shokam); this is drying up all my senses (indriyaanaam ucchoshanam). On this
earth (bhoomou) even if | am able to enjoy (avaapya api) the kingdom (raajyam), without any
rivals (asapatnam), which is prosperous (ruddham), or also supremacy over the gods

(suraanaam aadhipatyam), (these will not drive away my deep grief).
Shioka 9:

BN-EESEIEH

Tl go et [ETHT: TTq: |

T TATHITT My IFaT T a9@ g |l

Sanjaya told (Sanjaya uvaacha):
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Arjuna, (Parantapa), Gudaakesha (gudaakesha), having told Krishna like this (hrusheekesham
evam uktvaa) said that 'l am not going to fight' (na yotsyaami iti) having told Govinda (govindam
uktvaa), became quiet, silent (tooshneem babhoova).

T AT G AR R TRUATI T SATFH(Q T AT g TCHEHH, AT TGH AeaTe gHeadr
RUTRTG T IR SATCHATATA A G FATT N (P A ed SATCHITEA QTS = faaT 30 AIgr
T AT S WAT WIEAT THYENT LA FAH | TEHH TEAT AR IO qe AT HEATHAT
| aref sroepfRe sreTaat Fa ' (farfErg 5) =l

Thus, the Lord, the Supreme Person, introduced the Sastra regarding the self for the sake of
Arjuna - 'Whose natural courage was lost due to love and compassion in a misplaced situation,
who thought war to be unrighteous even though it was the highest duty for warriors (Kshatriyas),
and who took refuge in Sri Krshna to know what his right duty was, thinking that Arjuna's
delusion would not come to an end except by the knowledge of the real nature of the self, and
that war was an ordained duty here which, when freed from attachment to fruits, is a means for
self-knowledge. Thus, has it been said by Sri Yamunacarya: 'The introduction to the Sastra was
begun for the sake of Arjuna, whose mind was agitated by misplaced love and compassion. and

by the delusion that righteousness was unrighteousness, and who took refuge in Sri Krshna.'

Here Taq#ar g, indicates that one who controls everybody’s indriyas in all aspects is

motivating Arjuna’s senses to be ready to grasp @=9, the tattva jnana. The fact of his eliminating

the grief of the senses is indicated by ‘T=B A= T HTZATORY. ‘FAfed gUA=AIT AT FHIRTIO0

TfegaTior,
T — THETeed [eTaT #9121 [T 9gT, T84T 291 - one who has won over nidra, THEEadTa:

Mifavs — this word indicates that he had the capability of speech to dispel his grief — 7T means
a1% OR it may also indicate by T — bhumi, AT

94 g — The word g shows ==, Sanjaya expresses his =7 to Dhrutarashtra. (Arjuna had
come with a lot of vigour to wage the war and Krishna brought him to this miserable state! After
all who is Arjuna to say ‘T TT&d” He is only 7%a=T and fRTa<®T. That is why his g% was not

effective.) All these are indicated in Sanjaya’s 3T=4.
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T AT U RAqaghTeuaTsaT — The sloka which summarises STT&TT is explained here. The
ATETAALIHEAT is being told also.

ST shabda indicates ‘faw# fqI*aa®’ and it has anvaya with ®g and FT%7F only and so they

are mentioned separately.

AWFd TG - indicates meaning of the word 3% in gETeHTEATFH. This also indicates that by

nature he is bold and courageous — FaTadT vy

RO & TeHH AT e 7=+ — this gives meaning of SATERTERT — e f o7 &ff:
gATEHAT: - It is like SIfTFESIAe: - idea of silver in conch — in the TATH=ATAT it is WE-30% —
this is TTEE as told in 18t chapter ‘Tar+ aH{H{a 3T F=aq THATSSFAT (18-32). So the vigraha is

FEATARGRTEUITEAT ST erqTerdeT: -

FHEAT T TLURIG — In mula, TS @7 gHEHeAaT: ... T999 — is summarized thus. FTEELH

=T 9T — wanted to know what is dharma. SRUTIITITT here is to know what is dharma. It can
be for anything but here it is for knowing what is dharma. Shastra says that when one is having

doubt about dharma, one should approach a person who knows dharma (&4=1).

AT TS T FHTATATRCAT AT AT T AT FAT | T T AT FHISA: | JThT SR | e
SHERTAT: T | TAT T T AL | TAT T AqAT: |

uTf IfReT - Partha is yogya for sT&ETT=4T is told here. Can also mean pretext and that is

enough for TETaaLor

ACATATHATAT JGET FATTHA AT STHITELATAATATAT 9 3T o€ Hgr 7 eeafa 3 weam —

The meaning of ‘ATFaH IT¥ 3297 as told in Gitarthasangraha is told here. Here STeHATATET is

fAeaea, WA - that only is the means to get rid of Arjuna’s shoka when he says 7 2
TILITHH HATILAT... etc.

If his @18 has to be got rid of, two things are needed:

1. STHATATEIATA
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2. Knowing that engaging in this war without a desire for the fruit is the means for

STCHITT (ATHITIH-SITAATTT of FATT N P g d-T5)

Thinking so, Krishna starts shastropadesha.

TEAT THATENT STEATHLTRHTAAL FAH | TGHH "SI AgHRUTLHTH BATHAR | I TOeqieed
sreTaaTe Fa 1" (farfeug 5) =/ n

When Bhashyakarar says SIr&maa<el Fa¥ - if we get a doubt ¥ Fa¥ ? he makes it very clear
that this was not told by =& and others but by ¥RTadT 9THYEN. These two words, show the
I9ATere T and others which establish STETATTT — the validity of the shastra is established as

the person who is teaching is untouched by defects and is an abode to innumerable auspicious

qualities. FTIAZTTAAThcd, THAFATIR[UITHA.

AEATH - This shastra is very different from other shastras which teach different other things and

this shastra is STEATHLATE — ATCHTAATEFE AT, ‘T AT AT it is told.

The specialty of our siddhanta is it is always #TT=Ta% and this is shown by qgeed - this is a very
important aspect of our darshana, always following purvacharyas. In Sribhashya also,

Bhashyakarar says “ANTagI&a=Ear e 011 Fg[aeg i Tar=rar: Seferd: | Teaardar<or e

In Gita Bhashya, the @c@T¥s taught in each adhyaya is taken as per Yamanu’s
Gitarthasangraha. In this adhyaya alone, the shastra starts from 11t sloka and the first 10
slokas are included in 9T&-39TETa. Though the first sloka of Gitarthasangraha does not mention
first chapter, it is clear that it addresses the first chapter and upto this point. That is indicated

here by referece to GS sloka - 3T&IT1..

The mula sloka as told by Vyasa Maharshi at the beginning of second chapter is @ T
FOATStE.. and that is indicated in first sloka of GS as ‘@TgaTaa’ (fGaTar FuaefraeT s
F=HrgaT=a¥). The second chapter’s first ten slokas indicate the sangati for removal of Arjuna’s

shoka.
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Now, Deshika analyses why Krishna taught Arjuna all the yogas etc. raising a Purvapaksha.

How can Karma yoga, jnana yoga, bhakti yoga etc can be taught to someone who did not ask
for it — ATYE: FEATA FATT (V) — especially FLATH shastra should be taught in order of T[g]-
TFI-TZ[aH and all at once cannot be taught in totality as done here.

(For eg. when Indra goes to Prajapati, for every step he asks him to stay for 32 years following

agﬁréf and then teaches the next level of knowledge AND when Bhrugu asks his father Varuna

Fef1fE AT ag..).

And, Krishna’s words T&Tq Ja&T&q 91X, &I 7 etc. show only encouraging Arjuna to engage in

the war. So this shastra cannot be I&ITcHIT is the Purvapaksha.
The answer to this is as follows:

1. In Arjuna’s request, I T T4, he does not specify any particular 29 for the word
;. So it is YT,

2. There is nothing here to suggest that Arjuna was of the opinion that yuddha was only
2= for him. It is well known that Arjuna was a T¥H-3TT*d% and it is reasonable to think
that he wanted only the utmost %€ as he was asking none other than s TaT =T who
was so dear to him.

3. Even if Arjuna was thinking of yuddha only as shreyas, Bhagavan Krishna being
ITHFTE(IE can teach him the utmost beneficial knowledge just based on his ===
— general request also. Krishna’s words such as J<&a#a" etc are also taught as means

to TTH: 4T as can be seen in many places here.

So the IITHATHATATL is fully justified.

Shloka 10:

THATT gHieheT: Tga e AL |
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ey fafeafad a0

O Dhritaraashtra (Bhaarata), in the middle of the two armies (ubhayoh senayoh madhye),
Arjuna who was lamenting (seedamaanam tam), Krishna (hrusheekeshah) as though smiling

(prahasan iva) told these words (idam vachah uvaacha).

Td SQTHAT: ATATATAM A LIS ST A o o ¥ JT9HT9 e Regrnfraay
IWAT: AAT: ST SYHAT: T FAHEAT AEIRT Ii STy TIRY: Tga 59 389 34T+ |
TRETHETH 9 39 AHIHATHIATA TR TE AT HH T RTSTF A RT3 (h RG] ' @ dTg, T AT
(AT 2-12) AT 'oE @7 FFITIEIT AR 9 = 1 (AT 18-66) SAdETa a9 Sara
T |

The Supreme Person spoke these words as if smiling, and looking at Arjuna, who was thus
overcome by grief resulting from ignorance about the real nature of the body and the self, but

was nevertheless speaking about duty as if he had an understanding

T - In Mula, @9 - indicates he who is TRE™IRT. That is meant here

ST IYHAT: IHAT: §F4T: T — for Mula FTIT=AIATHEL, The word HeX indicates that it is not

proper to retire from waging the war

FFEAT A== — Meaning of HTEATAH in mula. 37 and others or 72T etc are all not proper

reasons for retiring from waging the war. If he turns away from war without any reason, he will

become TEEII.
IQTHAT: ATATHTA A ALIHITAS STIARATHAA A 9 &7 STaHT0 qeeq Regrnfraay -

This indicates that Krishna got the opportunity to do IT=er

Arjuna’s state was like this:

1. He was Y& a: - due to TEITEEHTETT (known from ITgd Fa9TE: etc)
2. He thought yuddha, which is T7He as 4¥ (gHEHe=aT:) etc.
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3. Was having deep grief as he did not have TS of 3§ and ST (TATH geqa=ard
HATSTY)

4. But he was talking as though he know that body and soul are different — as though he

had one who has IgTTATRTHSTT (AT ALHTd, Tated Oail U qaTIveahHaT:) etc.

THYEY: I AT TZ8 39 — Shows Faa@& of a<hT — He is different and distinct from
everyone. Though he is g&%&r and can control everyone’s senses and can just by mere #gcq
he can make Arjuna engage in this war and achieve His purpose of JaTXraa<er, He does not do
so. Because He is STTga&dHc: - He has come in this human form to do ST to entire world.
So he is doing this eT&ad+ by which Partha and everyone one else also get to know the
means to get all the T&uTs.

OR, He has brought the Bold Arjuna to this sad state as HE is g¥Ter and as though smiling, did
this erT&rTaer for doing SRTETHTY.

Partha has a special relation with Krishna and due to this, he looked at him and as though

smiling did upadesha.

When one does Sharanagati, HE does not see T or . So HE is not smiling looking at the

defects of Partha. So Tgd+ @ shows ‘T¥H@H, T, Afaf R Ea e e Agalsdsaey
FaEEATIeH - all these. Meaning the upadesha he is going to do is enjoyable, made easily
graspable and that HE is telling all the deep and esoteric meanings hidden in the caves of the

entire Upanishads effortlessly. These are all indicated by Tgaf=.
After all they are friends, so tlﬁ‘gl’ﬁ is common.

OR it is as though Krishna is telling Arjuna ‘You said T 7T, now see how | will make you wage

the war with your own sgsheT I’

¥<H 3914 - This indicates that what is going to be taught is entirely Bhagavan'’s aT.
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T @aTg g AT (AT 2-12) TR '9E @1 qauTa T /iR |47 g ' (AT 18-66)
TATIAH a97H 3419 3q: — The 11t sloka ‘SeT=ATH=a9=&aH’ — also is not AT gT& and

hence Bhashyakarar indicates here that shastra actually starts from sloka 12 as the sloka 11

also has TRg™=ama

OR, The sloka ‘s7¢T=aT.. is the subject matter for “Tg&+ =’ and the sloka ‘T @aTgH.." is the
meaning of Ta¥’ in the Bhashya.

A ICHTHA T T -A I TE AT AR T NI T RRIRRTG - AT {4 Sdas~ad — For all the

sadhakas the prapatti which is told in F¥HgT is required and it is going to be told as specifically
required for getting rid of everything that is wferfa<ITe.

Shloka 11:

CIELEIREIE]
A=A THTATSI AT |

TATARTA T AT qioear: |
Sri Bhagavaan told (Sri Bhagavaan uvaacha):

Regarding those who are not worthy of lamentation (ashochyaan) you (tvam) are lamenting
(anvashochah). The language of the highly learned (prajnyaavaadaam cha) - you are speaking
(bhaashase). The highly learned (panditaah) - about the bodies (gataasoon), or about the

aatmans (agataasoon) - do not lament (na anushochanti).

You are lamenting about those who are not worthy of lamentation. And, you are speaking the
language of the highly learned. The highly learned ones do not lament about the bodies, or

about the aatmans.

L=, I A=A | qafeq foar gut garaveiastsar: I (fiar 1141) s
RTHEAHATAIAT AT T ATIH | SGTACTATAAAAT 7 3 Foh =i Qv e ST | AT 2/
AT SATHTH T TAT: EWTAITITIERT 7 =t | oq: @ Ry o svervd, ag 'tam
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g 3 srgen=e 99 7 IR s qaTeEsTY e | STAY IgeawTe o 7 AT,
TR ST o FAeae], aoImegaTaa aTies a9 = | 38 9 I8 FATHa aiead
ACHATATHTATELATIVGH | AT 8 7 Seorefiaargrar 7 axomefiAiasers; aeq SeHa<or: st
A T MHEATH | Ig: T FAAT: TROTHETHATS:, TEF ITARITAATLANT: Tqrsirias:, sfa aysfa =
e ZfQ ST |

faafasey — contradiction

3T9ﬁ'alTF[‘5ﬁ%r - It is made very clear by Bhashyakarar that it is with respect to those who are not
to be grieved. The apparent meaning can be that STSTT=aTH 3T ¢ - some Who are =TS

are grieving and following them this person is also grieving. To remove this doubt, Ifa is used.

FIqen=ta — The usage in mula sloka is ‘S=a< =’ — which is in @ @F1X — past tense. To show
that it is in to be interpreted as in present tense, sIqeT= ¥ is used. OR, To show that it is
=13 - being followed for a long time now, it has the upasarga 31 with past tense.

Tafea foa<r ot qafivSEstEaT: I (AT 1141) SATRH QA Taga T aaaraT 9 99 | -

TAT shabda here means 9@ of 38 and STeAT.

iR — TATRAT FFgIL: TA1dT1al: - Arjuna is telling about all things (37a21¥) one does only if

one knows that 32 and I are different. If one has IgT#asTTT only then favgTastFaT for figs
is done and if there are =ds in that kriya, then there will be YeaaT — indicated by af+a foar ...

So all these are possible for one who has this knowledge of deha and atma bheda.

SRTEaNTasTaar 7 37 g AT sffq - For such persons there is nothing here which

can cause grief.

AT ST ST ACHTE I TN TAATHATATRI AT T == | 3 @ fRwfafvey 5=y
UM, I "TAT gASATA' S Aqen=e I T I@IA Ao STEF WIS |

The words AT, SRTATA though mean ITAITIT, STAATO (e Tor-gsmorar=raT) — this is how
all other commentaries treat these words - living and dead are not to be grieved. But our

Bhashya has a very special unique interpretation for these words — TATHH 2T AT ATHAL.
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In Mahabharata and Vishnupurana etc there are instances where even afieds have shown <+

with respect to FITIT-HITOETT — ‘AT aAATAFa T ITITHTAHH | THHATCHEATT HAHE
TSI (A1.97.330-34) and ‘T AT ZW Faled =9ad: | AT=ATARISTAHIZT SATHTHI
aifoor (f2.1-17-82) (if one hates others due to enemity, a jnaani feels pity towards such

people thinking these are covered by moha).

But considering what is going to be taught by Krishna here such as ‘Sw @RI TH

AaFEET=ad | TeATed fafaa aqa=qas e, ‘o =5« Hosd e a1 a7 a8 ga9 | a9t &

wETETer 49 mi=gHe A ete. (FRersitd feagd 229), Krishna is telling that Atma which is nitya and
deha which is anitya are not to be grieved. So, the meaning as given by Bhashyakarar is only

apt.

So, 7ft=d does not grieve for deha or atma. IETEATAR LTEHAT: TATET, ATHTAIST TAT
ATALAT TR TITGAH T G =T TUST ATT 57 TT0AT: | (‘ST AT TULST | |TE FJTaT ST
gfvea:)

AT IGEATE T ST, TRIATHH S o e, Ty d IeTies &« o |

It is as though Krishna is telling eTreq &rg:; Y37  aT&wT=#4T =1 | - You have shoka but your

prajna is only in vaada and not in jnaana.

The aspects which Arjuna did not know due to shoka which is opposed to or contradicting the

prajnavaada are:
What is the nature of deha - Tgea¥T4,
How is the atman different from the body and how is he nitya
(How is it that these two are not to be grieved)

and, how can the ghastly Yuddha and others be dharma and are means to realizing the

atman

That is explained further
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T T IG FATTNAERad STHITATHTATEITIAH |

This same yuddha if performed with a mind that is qualified by special intention (state of
thought) - FrEEeFTRT — that is without desire for fruits, becomes a means to self realization.
That is the nature of the mind. If there is a desire for any other fruit, it binds one strongly to

samsara only. It becomes Tfda=4= to atma prapti.

AreAT R 1 SeATefiagrar 7 AomefiAianrers; a€ Se A TNTET Sd: 9 7 e |

Here the word T8 shows WT#T — that it is already well know from Kathopanishat etc 7 ST for=r
a1 faqf2rq (katha.2-18).

Though Atman has SIRT and f=RT with 38 which is called S¥H-#7T, there is no Scaf-faHTET

SHHTT. So Atman is not to be grieved.

TR T-A . -TOT-eft T o steaTe: | Ao ST wiaerse srent o wad e )

Xg: T A TROTHEETE:, T8 Safi AT @i, s @ish 7 eimerg s st )
111

Here the word T shows a@&7T with respect to Atman — That 33 is T EE. Since it grows as
%2 and deteriorates as 9T etc. and it is s=d (is not AMTHA), it undergoes changes just like a
pot etc. (FETraaq TRUMTHETHTE:).

3T — has TEHTATA®HTT — six types of vikaras — I, ST, Fed, Aatora, sraefiaad, Teata. While
Atman does not have such vikaras. The & of Atman is also very different from that of Deha
— Atman is nitya. The primordial matter (& T&d) is nitya and it undergoes modifications during
gt and from it T7%q, =f+&7, 3T are all formed and during pralaya, they all merge in their causes
in the reverse order. So deha’s astitva is when body is created from pancha bhutas. Atmans are
all the time existing in the same form in their essential nature and it is only its attributive nature

that changes (svabhava).
AT Tl = T aaaratmar | PR gt er &5 wha S

Gitarthasangraha is like this:
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From karma yoga, one will get jnaana yoga and after that ATcHTE= I or sTeHETETERTE. Or this

can be got directly from Karma Yoga itself without Jnana Yoga. Once a sadhaka gets

ATHIATATHIATA, he becomes eligible to start Bhakti Yoga. From Bhakti Yoga he gets Moksha.

For those who are not capable of doing all this, sharanagati is also taught here.

The main aspect of Gita Shastra is,

T TCAT-GTEA R TETGHTLATT | TeTeTHHE o S Mareienre: |

This shastra of 18 chapters can be divided into three Wes:

ATARHT TS (Y TRTALT THEFA | STHATT A EIeqe TaTeahd Aad |

In Purva Shatka, simrfea=t T and F4ifcasT fA9T — meaning ST and AT are to be done

is told (f3f&r, injunction). They have yoga as #Te. Yoga is Fraaamem faoasg-=amame. It has
g+ and other special accessories and is called sTeTa=#. This has to be done for
SrcETATERT. The ATATERTT that is attained with such means can itself be called 7. TEEFT —
Means done with the T, idea of TXATETH, it is only for T=aTEITT and not having
interest in any other ®<1. This kind of Yoga has to be done for the Prayojana of of the form of
Jivatma Sakshatkaara which is sTc@=aq4@, very different from the enjoyments of the objects of
senses (FUTAH-3M+aa=127T) and there will not be desire in anything other than this. The first six
chapters instruct one with these #d=1s — FIfd — vidhi.

HETH TAA-TA-ATATHATATH G | ATAFRATHAAAT TR bt |

The middle shatka is about the means to attain 9d<a. The word 99 indicates the subject

matter of the middle shatka — every akshara of the word w-TaT as well as the Y&t and =

and also by &2 denotes TLE[ having ﬁﬁamwﬂ@hchlwlccl-ﬁﬁucq-*wlwgw|°h<cc| as told by

72197 and others. Also told in Sribhashya. S Taw@@q means WIATHE qwa¥, T<@H means YTHTUH
TaTe. ATATI-TATTH means experiencing the boundless joy of the real nature of Paramatman —
that is T&UTHHTST. ATFFATTHAAT — shows the importance and necessity of the order of first and

second shatkas.
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The first shatka teaches the IFITHATATERTT IUTT which is karma and jnaana yoga. Second
shatka teaches TTATHMITEAT to get Taa] A==

ARIRT — ARE means TR YaIeHEIEa &Y and TEITHAT. Aihed TRT: AIRRINT: - bhakti is used

as 3914.

This sloka has been commented upon by Bhashyakarar at the beginning of 7t chapter.

T ETAT- T PaL-Taa=d | FHLTH R TS Earasteaaraa: |

TET — FIUTAEIH AAZeAH, I - AT TATaedT [AEFTaTH, FAHH — 3T is AgaIa AT,
TR RATAAG AT R®Y o HEASTAH AHH | T - TEIH: |

fare= — gxEaTeATadeRr 99 - differentiating characteristics of these. Or understanding them as

distinct and different based on the characteristics.

@9 — eliminates the T=f<k and shows more characteristics of these yogas are taught here.
This sloka has been commented upon by Bhashyakarar at the beginning of the 13" chapter.
So four aspects are very important:

1. One should have a desire to cross over the 91T knowing well that it is filled with only
T9.

2. Believing that Paramatman exists and that His compassion (#1%99) is essential for us.

3. The shastra that is taught here is ¥3TagTor and having firm belief that there is FTE in
this.

4. That our Atman exists and it has Tosi=1 and such unbearable difficulties.

One who believes in the above and gets deep anxiety out of this are eligible for learning this

shastra.
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Shloka 12:
T AT ST ATE 7 & A STATreT: |
T = TSI 99 F99d:; T

| (aham), at any point of time (jaatu) - it is not that | was not there (na aasam na). It is not that
you were not there (tvam na). It is not that these kings were not there (ime janaadhipaah na). All
of us (sarve vayam) from now on, in the future also (atah param) - it is not that we will not be

there (na bhavishyaamah na).

At any point of time, it is not that | was not there. It is not that you were not there. It is not that

these kings were not there. For all of us, it is not that we will all be not there in the future also.
TYH qTag AT AT ] —

A FAFL: AT AT TARTATY & [EA SATRY FTA T ATEH AT J G | @ T T SIATSAT: &= T
T ATE AT @1 | 8 F I3 9 99 a9 T TG AR o 7 49 7 Afasqm: fe g whasams

TS | IUT g O TuTedr fAer 3 7 o gor:, ad9 wawa: &=t s (i A v i awae:
|

T qTag ATHAT TaWTe I — In order to do Upasana for gaining the fruit of T=ar=uTH first one
should know that Atman is different from the body. For that one should know that getting
Atmasakshatkara is T&Err?f and should have the desire to attain it. For this reason, the nature of

the Atman is taught first. The word I is to get his attention to what is going to be taught.

Slgﬁ’a'{: qrdag — Both sfir and 547 are nityas and out of these the one that is easy to know is
7Y, so He says 3129, <77 if he has to say 3%, it is for the purpose indicating His Fafavgea —
hence the Bhashya says @&=a¥:. a1aq indicates knowing well Fsfaa.

AT TAATAT TATEH SIATET TS 7 ATHH ST(Y T AEH | - In 37T 7 told at the end of the sloka, the
word 31q: is implied in the earlier sentence also. STt means FaT(T always, so Bhashya says
FAATATG A RH AT F1. The word T is to be taken as % T sTEH. Same way, T @ 7
STATEMT: is to be interpreted as 7 @& FTHT:, FH SATIEMT ATEH.
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@ET: T T SIATSAT: ST 7 716 ST19 @16 | - The &==Ts that are addressed as ‘yourself’ @,
and you all &, etc. differently are all belonging to the same group =f@=T: - all are being ruled
over by ME.

qE T IF T T JIAA: T FEATE =L Hret 7 349 T stfaeam: sifd g wisam wa | If one gets a
doubt that some time even the very stable things such as 7ad and others also perish and so

whether atmans are also destroyed, the avadharane in ¥fa=aT9 Ta removes any such doubt.
YT A A< TTHAT (AT 3 7 o1 gor e, -

gagY: - One who is present at all times (present, past and future) and who is the Lord of
everything — how can He be not there at all the three times. Who can and when prevent Him

who is the controller of everyone ?

TLHTCHT — IHTACTET-AA ool SATH A THTCHIE (A% <h: | TIT o SATHCET] AT & T 14T |

HATcHea FadTadided HgH Ifd qTa: |

An objection may arise here — How can one who has doubts about the Jivatman who is different
from body and can be perceived directly (SeTera7), not have doubts about Paramatman who is

different from Jivatman also and is 3°T=IT ?

Answer — Arjuna himself says later ‘T=9 amrsad ﬁaﬂ{ (10-12). Arjuna knows generally the
HEIEAATE from the innumerable words of 917, #Tf#d, @« and such 9% &fUs. Arjuna had

been to Indraloka, knows the power of all weapons, mantras, tapas etc (AFTEHAATT.TATS), he
has abundant [&¥f<F and F@aTHfh. He is aUTSATATAIT — one who has followed the durties of
ones station in life strictly, he was extremely scared of &/« (commiting sins due to not
following dharma) etc. So he did not have the & of not knowing the existence of Jivatma who is
different from the body and also $%%. He does not doubt it too. But he did not know their
THTLIAIT — special characteristics and modes and so he was having grief etc. He knew Ishvara
existed and that He was i<, #1954 etc. He did not know in reality the modes of the StraTeH —
Sfia=TTs and hence got 1. As birth and death are seen normally in this world and the
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apparent meaning of pramanas such as 7 I HTed also seem to suggest such understanding,

there is no defect in not knowing all the details in depth.

T Ha=T: AT T A AT ua g9 a=q=m: | - Paramatma s distinct and different from the
Jivatmans and hence does not have the nature of Jivatmans. In the same way, Jivatmans are
different from the &= or body and control the body and there cannot be any doubt that they have
the nature of sTfAeaca etc which are related to the body.

TE WTEd: GIFG STCHAT IEIE o W: qRATRIS:, S F¥rEaT U 3769 3a T4 | SIeHIgd S
AR T R TR e A T W e 3R AT | A
ATCHATET STATRAHET T TISTHY NSASAT T TS | WITAGRIANG: T, 3f (i i ang
- Foredt FrerT SRR At 9 Frah S (A0 6113) TR | Rt SgAt e T
T A A7 F e sond: | ssmsaaegfEar g s

RECIR AR E RN T B N RIRIR S R NG AR ESIEIE SR RRIC BIGE SR e

T IRLATRATGR: = 7 T |

Now the inconsistencies and defects in other interpretations are highlighted after critical analysis
as per F?II'IFHWW — checking whether rice is cooked in one place of the vessel is enough to

confirm that complete rice in the vessel is cooked.

TE TTEq: OoaIg SCHAT e o 0a: TICATTF:, Z(Q Fadr UF I 3fd Tdad — This is told by
sakshaat Bhagavan and not by some passerby (rathyaa purusha) . Shows by Paramatman who

has I9ATIE T and is Gafaa=ar and is indicated by the word =129 in mula. If the 97 of the Jivas

with respect to %% is not ITXATIAF (reality) then there will be mixing up of (ATEHF) the TS
such as E‘Wﬁsﬂc_q' and g:%ﬁ. And, if the 9= among the Jivatmans is not 9T there will be the
AITIRT of FF, <, farex, =T etc. This is all told by ATATH w-TaT and not some T=ATY=W. Or,
as told in shrutis, @Ha @T ae ATSTH TS (FTS.FT.1.6), | TSI 92 (< a1 7 a2 (K. 8-7-11-11),

TrET is telling Himself the d<afarfa of Himself and Jivatmans who are His ¢¥i<s.

FAHITRS T afeg=a - An 3T is one who sees the Truth and tells the Truth as Seen Tam=aeff,
TATgETHaHT — So an T will not lead others also to 9T+ (or confusion, wrong knowledge) while
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he himself is under 9HT. But we see in TU7Ts that Bhagavan Himself incarnates as 94 and does
upadesh to 1qLTs. Why can't this also be one such instance if one asks, Bhashyakarar makes it
very clear that TSTHITEd Wia a=gw¥ - here the Upadesha is to remove the 9# that has
happended due to 3TH. It is accepted by everyone that Tﬁ'cﬁ‘iﬁ'&‘c{ is to remove #Tg and these

are also seen in other commentaries.

AT R eEH Y — The word TTEHTI in Bhashya indicates that it is not as interpreted in
advaita system that the aga= is due to <%= and not due to THH=. In the advaita system,
there is only One Atman. The multiplicity that we see here is due to 3 9= only. To reject this
view, Bhashyakarar says the Bheda is IT¥AT{. It is not just TagTF but TTEATIF. They say
that in =1agTY, all these differences (bheda) is seen but the 77T is that these are all sTfa=r®
and =97 and the truth is Atman alone is paramartha. We do not accept that. This sloka T @aTg
is not just T=TITS for removing AT~ in which case one can give different interpretation for the

Fefager. This aeaa29r=T and so there is no scope for giving any other interpretation here.

' @ T WA 'TIA - Here, the ToT%T (self) is addressed as g, the 3a= who is different
and is facing Him is addressed as @H, and other ¥@s who are not facing Him (Fa9<1sq@) and
are many. The word &4 includes all are different, 93¥ indicates the innumerable people and

qIHTH are all grouped together as ATcHs.

gfa sraerTq - This phrase indicates that it is taught like this. It does not indicate that Krishna

taught ‘I am not true, you are not true, other are not true’.

AruTfEEaRaTs iR srervieey sraTiRaseaT aeaqaeead WaMae 7 =ad — If it is argued that, in
aTERaHa which is called saTiaFA=Ts"=aTE, the 9% is due to a real AT (AATITE) and so
AT is acceptable, the defects in that view is also refuted here. The word fg shows that the
examples give by other systems about T=T#T9T etc where the W& between the sI=TeT inside and
outside of the =< is due to the STT#r of =1. It separates the 3T=TeT into two. If the =< is
destroyed, there will be no ¥=. So there also the 9= is not @< and so it is 3rdTa% only. Even if
a 3Tt which is @< is accepted, just as in case of one’s face or Moon etc whose reflections are

seen in a mirror or pond etc. which is due to TITITIE (the mirror, pond etc are all < and bheda
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is seen due to this FATTI), and also just as one 3T seen as different due to =z, T etc
which are true upadhis, the ¥T seen is only due to HI’T and not due to 39T itself, in the same
way, in case of Paramatman who is ffage, === etc and everywhere ‘TR‘TJT the 9= seen due
to =T FT and such TATITIs are also not T¥HTH. So the different Jivatmans are all True and
not reflections of Paramatman in the 3=T:%¥0T as such faafara=er would not be acceptable
during T2, that too by 9ZHTH who is doing fEara=er. Both these T&Ts are against A wTT

also.

TEGHICHAAT: TqTTEH:, Sfa i it smg

In our 9%, it is as per ﬂﬁs and so, it is not like T THTS which are ﬁg‘rrr?f This is indicated in
the Bhashya as ‘\irag<r. Or, it can be that the shruti pramana was told to reject wT&rT9eT and
by FHI=aT@ shankara paksha is also rejected. The word 37 indicates the combining of both

THTITS. The word wRTaghicTa: in bhashya indicates that it does not need any other pramana
just as in the case of shrutis. This is also Taa@: 1T, Shruti is also A and WRrEET=T=T and

hence valid by itself without expecting another pramana.

- 'R AT SaaRqaEEST agat A fHerfa s 1 (=aT0 6113) 30 | Rt sgat sa-m -
Here the st of et A= is not like Tfa=moTT 9= but as shown here. Hence it is
specifically given by Bhashyakarar. If it is not done like this, Sfta-srfacaea with ensue and it is not

acceptable. The fAgea, dgcd, Adcd TYTATIEER<OT shows the multiplicity (sg<d) and =d9<a (of the
nature of consciousness) of the 3THS is fA=aTfass — not due to any limiting adjunct, it is real. So
by this, the R TaTeT where they say 3IeH is TfHe, sTga9er where it is said that 9=s are all due to

srferar, a9rfsaer who say that the = @+aca is SINHTATTT — comes and goes and other views such
as e is only ==zf<F (shakti-traya vishishta brahma) etc. are all rejected.

7 : e =3aw: s Rt sed: - The four words in seaTars s — 2, wa:, e, =@ -
used in FTATATIEYUT — reject the views such as T of £5a% and S, and that U= being similar
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to fgTva e, %%, T and others who are supposed to be like FTeT and other things for which ¥&
exists due to IUTY etc and in TZTATY it is 3T¥=. So, the =*a<s are also like a flood who come and

go one after the other (YaTg=).

Also, indicating that the aspect of R@=ra=HT etc seen in other #fds and that it is FEfarsfater
and not 3ATS like T=T:, the meaning of the 4T is told as ‘HART HAT HAUT AAATHE T
TAEHHIATIIET: TOagEAToTierar« #fd — at all times, to all chetanas, the ONE only Ishvara,

being worshipped by respective karmas, bestows respective desired fruits to those.

SAATFAATG AT T

Now again, like figraeirs, Bhashyakarar is going to examine and establish that there exists
STRL-ATIATRT in the Advaita siddhanta of Sri Shankaracharya and also the fact of doing

SITEITLHA itself is uprooted.

Several questions are raised as objections: (7 g fAvar fAwer [Afrag wadq sifag Mfvaarg 9

TITH).

Will this 9911 do upadesh of what he is known by Him or what is not known. IF it is known by
Him, was it perceived directly (|TeTTchd¥) or heard only (IdHTaH) ? Then in both cases, was the
=T eliminated or not ? If it was eliminated, the & that there is 9= in the effects (F19) is
removed or not? — thus posing these questions, Bhashyakarar shows the defects in the @&t

which says the effects of =TT are removed due to AT&TEHT thus —

AT TR AT peerRe—aaraareeas g Reaeaeadr aaHeaHaed
T ATIRLTIRETEERT: T 7 S |

Since Bhagavan is TTHTEY, he has to be TTATIEM® and should not be like &=='s who are

FITATAE s, AT — means SSTH AT IEa A WaTR . Feeddd means ATATHEEH, or
AT or Afdaead. This AfEsI is just like a wooden stalk which can cause &Y to iron

etc. by ET though it does not change by itself. R is FTo-AAa ==, ITATFIH — means as
told. FraTFHATATARI — by specifically and clearly telling this, it is indicated that for people like us
also ITATATETRTT can happen and it is not so for Bhagavan. 31371 means 31f3=IT here. Its 14

(effect) is ¥=9H, its continuation etc. is indicated by =z,

www.sadagopan.org Page 25 of 73



3I9=9T and other =TagTTs are about the IT<eATY, TETARTTAFIE, FOre, =T, AT and such
¥Ts and so it is rooted in several types of ¥4 only. And, ¥=&9¥ happens only due to 3T is
your view. If that 31319 and its effects are eliminated, how can the effects continue to re-appear

? If so, then hundreds of defects would arise such as =aTaTa (contradiction or virodha), safErgT=a

(wrong philosophy), 9TTEI-3TATEEH, STTHTE (absence of teaching), fAsasrafsrae (putting lot of
effort for no fruit), fafarer and so on. So the #T=¢iF cannot continue to exist.

Lord Krishna is first teaching the atma svabhava to Arjuna. Krishna’s words here clearly show
that Atmans are many, they are eternal, there is difference among Atmans, there is difference
between Jivatman and Paramatman. STcH#g, AcHaged, Acaiaaad. This is all paramaartha. The
various differences that we see are all true. Nothing is mithyaa, everything is satya.
Paramatman is opposed to all defects and is the abode of innumerable auspicious qualities, He

is the all controller. This is our siddhanta.

Among the purva pakshas, mainly advaita vaada and bhedaabheda vaada are examined here.
In advaita darshan, the bheda or differences that are seen are not real but false (mithyaa) and
are due to ajnaana or avidyaa. The avidyaa is also not real and only Brahman is the reality. That
Brahman established in thee advaita darshana does not have any attributes (it is nirvishesha), it

is unchanging (kutastha), it is consciousness (chaitanya). We do not accept this.

AruTEERdIEaT: iR srervieer saTiRasaa axaiaeaawd AefHee 7 @9r=gd — According to
Bhashkaracharya, Brahman and Upaadhi are the two realities. The ajnaana is due to an
upaadhi which is real. The differences are seen due to this upaadhi and the differences are not
real in the ultimate analysis. So the aatmabheda is not taatvika (not real). In reality there is only
one Atma and due to this upaadhi we perceive as though there are paramatma, jivatma and
also many jivatmans. When such is the case, during tattvopadesha, the teaching of the Acharya
has to be that the bheda is not real. But here, the upadesha done by Krishna is that there is
BHEDA in atmans and Atmans are many which is indicated by gH, <a¥, =, 94 etc. So the

upadesha is contradicting both the advaita and bhedaabheda siddhantas.
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Bhashyakarar refutes both the views of advaita system and bhedaabheda system.

AT TR AT peerReaaraareerams g Reaeaaadadr aagaHaeds
TATTRLATRETAGI: T T Er=a |

Now Bhashyakaarar states that all the acharyas accept that Krishna is Parama purusha and
paramaartha drushti (one who knows reality). If Krishna is paramaartha drushti, he should teach
paramaartha which He knows. And, what He has taught in this sloka is that the bheda is real.
So, that should be paramaartha. There is nothing here which says everything is false or
differences are all mithyaa etc. On the contrary, Krishna’s words here clearly state that Bheda is

real.

If Krishna being paramaarthadrushti had the saakshaatkara of an Atman who is without
attributes, unchanging, pure consciousness, then the effects of all ajnaana should have been
removed for Krishna and He should have taught abheda only and not bheda. If He had taught

abheda, the vyavaharas of bheda also would not be possible.

But here we see bheda being taught and all vyavaharas, due to bheda, are also seen such as
the act of teaching - Krishna is teaching Arjuna who is different from Him. Krishna says tvam,

ime, vayam, sarve etc. which are all teaching bheda only.

So, if it is accepted that Krishna is paramaartha drushti, sTea¥g, sTAag@ and seHH@ should

all be accepted as real because what he has taught here is that only.

T AR ATRTATeqTET AT eI 38 NI TEYEIRad 7 qwerwH hd S=4d, T Taq
ST, ARSI g ST IaaaeH 9 T TATguieyggg: | TaH o1 (i
AEAATA ATE AT Aqaa A= A1 iRty 7 sty a1 9+
THT (G AT ATATERIAaa s adT STEdrqd i SEd O, 9: gas: garaq (030
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21119)"9TET TR TS T AT STl AFASAHAT = |' ((FAT0 618) AT qHATATI FAHTAT AT
| wiersgTior = saTe A7 g A% T F= 1 (Far 7126) s gegiaEiemg )

A AYENE ATRATea e TG IEIH 58 NI HeIeaq 7 qwahH shd 3944, T Taq
IUTEA; - For this the purvapakshi says — though 3= is eliminated (STfera) by SGd=, 9a9H
continues to exist (IFTT) due to the influence of ATEAT etc. and it does not bind one as the root
is cut off (F7=r=). This is similar to @™z, A cloth which is burnt continues to give the
impression that it exists. Just as in case of burnt cloths, there is the impression of the original
cloth existing, that burnt cloth is of no use (one cannot wear it etc), in the same way, though the
¥ continues to exist it does not bind one to FHETX. Bhashyakarar just gives example and
says it is not reasonable. This means it is unreasonable. It is just not that 37T does not exist

but s exists. The TR is shown by the example of a mirage.

FORESEsEIRE 8 aTieae srgadaee Jf 7 SergenfayaRigd: — The Mirage which gives an
impression as though water exists, though gets stultified by the knowledge that there is no

water, continues to exist. Even then, it does not provoke one to go and use the water for

drinking or any other purpose.

TR A AT SAGAATAT STTEd AIHAWH AqAAAEH A1 Hremifvaaearg 7 sueenugieg:

9fX | - In the same way, here also, the ¥==TT which is eliminated by s5a=T+, though continues
to exist, if it is decided that it is showing false things (Ffe=arafaw), it should not provoke one to

put any efforts towards it (just like T ==TsIers1T), such as doing ST= etc. So, the A== which
is continuing to exist though its root is eliminated by 3T5a@=T does not yield any fruits just as in
the case of 7992 etc and so this leads to the defect of Tg=aTaTa — contradiction to what you

wanted to achieve.

T AT [ AT AT AAA AT ATAATG T AR aG; T g4 qataq (F0S0
21119)"9TET TR TS I CATSTEhl AAARAT = |' ((FAT0 618) 'IITE qHATAT FAHTAT AT
| wirsTior =7 sg@rf¥ 7 g 3T 7 F=17 11" (far 7126) sfh gfaegfafaemg | - Because He is £%47, one
cannot say that he was 31T before, because then He becomes <3< If even 5% was T3

earlier, his learning of the shastra itself cannot happen as there is no one who has more
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knowledge than ¥ who can teach Him. There does not exist the T¥9=T of TaTg*a<s also as it is
not accepted. ¥ does not get knowledge from the 9T created by Himself, if so then & would
become sTf=eT and also the defect of === would ensue. He cannot remember the Vedas
which are sTf2 and master the knowledge. Even to remember, someone should have taught

earlier and that also does not exist.

Let us say there is a person who had the wrong knowledge that there are many atmans. Then
an Acharya teaches him that it is not true and the reality is that there is only ONE atman and
everything else is false (mithyaa). Then the student has got the true knowledge but still may see
different people etc but will not be affected by that as he knows that in reality it is not true.
Similarly, Ishvara also got the knowledge from someone and for Him also the bheda continues
to exist and He knows it is not true. This whole argument is not valid is what Bhashyakarar says

in this phrase.

The #fT and Fgfafa<rer would ensue if you say — Ishvara was 3= earlier or He got His
knowledge by studying the shastras or there was someone who taught Him the shastra or that

for Him also 9Tf=a continues to exist etc. The pramanas for these are shown by Bhashyakarar
thus: He is IG5 and F&Taq. Hafaq means Fa&TA: THIXAA 94 AT a<iid [aaeaT gasraaad
T&RAT: AT | fawafd — ST 3T a1 Jatad.

I know everything which existed earlier, exist now and are going to exist in future. But no one
realized me. Among all these no one knows me as vasudeva who has incarnated so that

everyone can take refuge in me and does sharanagati. So jnaani is very rare.

& 7 TETs SEN T 7 g afa sgada iy S wfeargsa
Srfaea srersTT el Sufeerfa 3 awres (afiferaaariawr: saTfes: 3 3, 7 waq
SYTHQ; 7 8 g sty afvrgaruredumiRy Siawmy @regfafasy auic @res: A= A
Avr: FATY srefe Sufeafy iR R f & 7 g agg; aree afgdareasmy starsfafiee-
ASATAHE TS faeearq | feamssmaTe § Fswasme qrars-fafAafidres Ressmgar:
FfaEETg STfaTgRe: I | AqaaaH A% TIATHIOEEAET e | 38 J Hea e
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AT G AARATRHET aeATTEqgaETd 7 wef=g sife arfdargaf: awaf | sm@:
I AT TR AR CITAT: F w7 AT 9g AIRAqhTa (T-QATEEWE: | Ageeiaafea g =g,
AATET TSAT: AT ST TF A ST 7 HWaT |

Thus the sIgafT for doing 39247 is established. Now the unreasonableness of the 3T3F — is

going to be examined.

& 9 TR TE SEHRI F AfgdiaTaeasa sy afd sqaqa A See @ iEagEy
srfacfia sersTe Fe Safefy 5ft awres - According to the Advaita Darshana, the first

Upadesha done by Ishvara itself cannot be compatible and by this, the Upadesha being done by
current garu parampara is also not reasonable. If a Guru does not have the right knowledge, he
cannot to Upadesha. If the teacher has the knowledge that there is only ONE atman and
everything else is mithyaa (false), even if the bheda jnaana is continuing to exist, to whom will

he teach the advitiya jnaana of which is very sure of (as there is no second aatman) ?

So Bhashyakarar is asking the advaitin ‘What is the Twaf=a? If the a<af== is that Brahman
alone is truth and everything else is false, even if one is seeing many atmans in =4agI<, such a
person cannot teach someone else as he knows well that everything is false. A Guru should act
according to tattvanishcaya and not mere vyavahaara. These two are contradicting in advaita

system Bhashyakarar says.

st g 2R 3, 7 vaq 3w, 7 R ager: fsf aftegpumradonfiy
THATAY ST Ry A6 T swre ST+ v FAi sred Suferfar |

If you say it is to Arjuna who is seen like his own mirror image, that becomes incompatible or
unreasonable (anupapatti). No one in his right mind would teach to an image of himself in a
precious stone or the blade of a sword or a mirror, knowing well that it is his own reflection and
is not different from himself. So, what to say of sakshaat ishvara Himself (Krishna) who is
sarvajna, sarvavit etc. Children who may not have such knowledge may be seen doing such
things in mirror etc but not one who has tattva jnaana as he will then be called aT= (out of

mind).
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FATY 3 - Not teach anything — means including everything seen here or unseen (3214 or
g, or T or 3T ITeha, what to say of JTeaTs ?

Now that itself is not possible in Advaita darshana is going to be told.

STRATTa R Af &: 7 T A T AT ATCHITAT AreHea - Fe AT FTa:
Rz

Now, the aﬁ%ra'r@qﬁrz itself is not possible in the Advaita system Bhashyakarar says. If &7 is
not there, &1 cannot be there. T is T and 1 is AT+. If the defect or I which is the
LT is removed, the T3 which is 9Tf=T also should cease to exist. The ajnaana causing the
bheda jnaana (that there is another atman) is completely removed by the advaita jnaana. So the
argument that though =T is removed, 9Ti=a continues to exist. Hence e itself is not

possible in this case.

IHTe: - if the 3131 which is causing bheda jnaana is 3Tf and has been present from
beginningless time and if it is not removed fully by the sT5a@=T+ also, then Brahman will become
==, There is a 9TT=a¥ here as JSTMTa: - here the word 3Tf< would mean 9&9# and the
object of ¥zyH.

AR g TemaEnm AT - REyer s afaasarg arearg: 9 |

If something is 9%HT% that cannot be stultified because then aTer-srame itself will be questioned.
The STIFHATT cannot remove the cause of TAST as in that case the as themselves would

have to get eliminated.

Here let us say someone is seeing two moons. So he has the 319 that there are two moons.
Now he comes to know that in reality there is only one moon. This is the SIT&IF=TA. This
knowledge that there is only one moon removes the Ta3=IT that there are two moons. It cannot
remove the cause of the T@5TH. The cause of T@5T (which is there are two moons) is a real
defect in the eye. That still exists. So even if that person has the right knowledge that there is
only one moon, he continues to see two moons as he has a real defect in his eye. This is our

argument.
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I<hT — if ATANT is continuing, then FTATIMT is also reasonable. Here &THRI is defective eye and
T is seeing two moons. So if the defect in the eye continues, the seeing of two moons also

continues inspite of having the right knowledge that there is only one moon.

ATATHATH, A TT TTATHATUE AT AHiarehad | - If the 9T+ is continuing to exist, how can its

effects such as &7, 97 etc get removed ?

The word Y&t says that in the Advaita paksha, there is no difference between 9¥=9® and that
which removes it (Faga=Te). Both these are due to 3fa=IT. If anyone of these is real, then

F&Tea will not be valid as there will be a second real knowledge.

For this if advaitin says though both are 3= or AATHA, the FTET-ATeH T is possible due
to ‘Fic_q' and 9%, For this Bhashyakarar replies that once you know that both are due to 3T,
T becomes useless (AHfFETa®). Otherwise, just like 77, even HfaT becomes
stultified and it will lead to ¢-TaT<.

TE { AT QATIET G0 AqRATR @ aeqaTITa T aasETrd 1 Hu =g i
FrferaTaRy: ewafd — So ATt in case of advaita system is just not possible — either due to
FATIR-3TST or WESTHATHAT etc. and this is indicated by Bhashyakarar as #afJafy.

A G TEAIFARRICILET: T GeasH A 95 Waaaehaid-sAqTerEsa: | So the 3T9I-
3171’@% which was initiated by asking the question whether the acharya doing upadesha knows

reality or not, is being concluded here.

Sangati:

A I FCET IIAANRIAFICET: T TAATAH A 9 WIRAAAHATI-amerEwa: | So the
B’q%{QT-aTT‘Jﬁr which was initiated by asking the question whether the acharya doing

upadesha knows reality or not, is being concluded here.

AeeAfed 3 A, AT qSar: RIaas Se@ETg @ ga STeel 7 §Watd |
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If F97a knows reality, then just the FET=T exists in aTferaTgTd. While, if he does not have

real knowledge, that also does not exist.

& = O srfsdrararfasTag ua sy e gerie Ry st gfa saeay R | 1@ ass
T FHITaH 3T A, FArsaqesaT: ot Fleqaamasiy sffaxsd | Fiaaastt @fadfaed Raxdsq
= 3, TSR 2 ag s wata, =it St o, 3 Faw s |

& = O srfedaTtasTg a agemer aerer s s afa Saesn Asse: - The
3171’@'% for IU=9T was established. Now Bhashyakarar says it is also A==/ — there is no use

in such upadesha.

If the Guru has g T-ATcH =TT then by that itself, the 75T of Brahman and the effects of that

ajnaana are all completely eliminated and doing upadesha to a shishya becomes useless

(GERIEED)

It was established that in case of a Guru doing upadesha to a shishya thinking him to be a
mirror image of himself, no person in the right mind would do such a thing. If a Guru knows that
Brahman is the only truth and there is no second entity then he cannot do upadesha to his own
image also as it does not exist in reality. If he does not have that knowledge then he is not
eligible for doing upadesha. So it was established that #9*a¥ or the current IT&IZTT also, if they
have the <=1 as told by in the advaita darshana, then they cannot do upadesha and other

vyavaharas.

According to the Advaita Darshana : The advaitins say that there is only one Brahman which is
covered by avidya (aﬁ‘a‘r&m) and it becomes ONE jiva only due to this avidya. This
Brahman which is covered by avidya and got Sl sees many other jivas as though one sees
in the dream state. Many Jivas are seen just like in a dream. It is not known who is the one
REAL Jiva (who is Brahman covered by avidya) and where or which place he exists. It is not
possible to know this for sure. So sometime in future this Jlva gets tattva jnaana and wakes up
and then the entire world gets eliminated just like a dream disappears when one wakes up.

Tatva is only ONE. No one knows who is this real ONE. Many people are being seen in this
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world like a dream. The ONE who exists comes to know that this is all a dream and then the
entire thing vanishes. But we cannot say when this will happen and where this will happen. This

is advaita darshana’s argument.

In this case, there are many possibilities —

So, here there is ONE BRAHMAN who is in JIVA BHAAVA who is seeing the dream and there

are many persons in the dream itself.

(a) Is this real Brahman the Guru who is doing upadesha (such as Vasudeva) or (b) some one
seen by him? (c) Is the shishys such as Arjuna the BRAHMAN Himself or (d) someone else

seen by Arjuna?

(a) If the Guru himself is that Jiva (who is the ONE Brahman covered by avidya), then he should
have the srfgda-sreqfa=T. In that case the 35T should be destroyed along with its effects
such as farew, sm=Td etc. Then there will be absence of one who teaches, one who listens and alll

accessories associated with teaching and hence doing upadesha to a shishya becomes useless

(EERIEED)

(b) If it is someone seen by Guru — Then the Guru and his ST would be #feqa (imagined) then
the Shishya and his ST also become #fa@ and so, there is no need to eliminate it as it is

simply imaginary.

For this they say - Just because the person seeing a dream has the knowledge that the person
is imagined, the dream itself does not get stultified? In the same way, by the knowledge of the
Guru itself, the 999 does not get eliminated. So, in order to eliminate the prapancha, upadesha

is needed.

For this we say, this is not possible. In this case, the shishya and his ST also become Ffeaa

and that also need not be eliminated.
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(c) The third possibility that Arjuna is that JIVA, it is not possible to know this as there is no valid
means to know (ST sT I« f=r). An Acharya cannot be thinking that this shishya of mine will get
#Ter and | am being imagined by him just like in a dream. Because in that case, since the
shishya is going to eliminate ot stultify the Guru himself as imagined one, a guru will never do

upadesha knowing that he himself will be eliminated!

Guru also will not do anything to get moksha because he knows that a dream will by itself get
removed. If the shishya knows that Guru is kalpita like in a dream, he will never listen to such an

imagined guru.

So the last possibility that both Guru and Shishya are imagined ones by some one else who is
the reality remains! Then the 3T of Arjuna is not going to eliminate the 3=t and hence Krishna
and Arjuna putting any effort for moksha becomes futile and STT&TEF itself becomes

unreasonable.

Now Bhashyakarar puts forth the last argument with TRg™==13 — Even if it is imagined, it is
seen in the world that when there are two dreams occurring one after the other, the latter
eliminates the earlier one! Let us say one gets a bad dream and gets terrified and immediately
another dream follows with something good happening or that the earlier dream was not true
etc., then the later dream nullifies the earlier dream. So it is possible to say that the earlier

dream needs to be eliminated! Is the argument of advaita vaadin.

We say, then that has to be applied to Acharya jnaana first and that itself would need to be
eliminated! So doing upadesha remains a futile effort. So with this we conclude such

unreasonable arguments put forth by advaita darshana.

Thus, when doing UPADESHA is itself unreasonable, the moksha of the ONE JIVA who is
seeing everything will never happen and hence shastra becomes futile and so ST&ATFA
becomes T994. Thus for shastropadesha, the one who does upadesha, one who listens and
the prayojana of such an upadesha are all unreasonable in the advaita darshana and in a

similar way other 9¥Hds such as that of Bhaskaracharya also get refuted.
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Shloka 13:
ARASRET 797 ¥ FrAT A 1T |
TAT IFTaCITTH: e 7 qgia I

For the embodied soul (dehinah), in this body (asmin dehe), just as (yathaa) childhood
(koumaaram), youth (youvanam), and old age (jaraa) happen, in the same way (tathaa) getting
another body also happens (dehaantara praaptih). A viveki, dheera, one who has the
discrimination that the aatman and body are different (dheerah), in this regard (tatra), does not

get confused (na muhyati).

For the embodied soul in the body, just as childhood, youth and old age happen, in the same

way getting another body also happens. A dheera does not get confused in this regard.

THRA Ig TAATIE Sfge: HETaedt g Faar=Eedm T aree: Raggsar e T ag sfa =
=, g IgraeaTat f qurt e feur e gfa gige 7 = | s s g s =
STTHEAT |

TATAE 3T FAAH ATHAT (AT TF SATIRHHALATAT TAHA A T-SgH ST AT Jg: Tee gy
ATETE TV LETIHH A IE Rahed F FAATH AT AAAT T Fi-eareeqert:
sarsRRgEgEsT wa i, ¥ g arasgre TR aAT avaer 3 |

THTEHT g TAHTET Sid: HAREET g ATaTe@ae s THT sead: [Ravagedr T9T AreAT 98 i 7
AT, TR SET-aITAT T ToT Ua oo srewT =i e T o= | o1 e Hereang e r 1

TTREATHH |

Krishna first taught Arjuna that Atmans are Nitya so that he should not have grief with respect to
them getting destroyed etc. Now a doubt may arise that we see in this world that Devadatta is
born, Yajnadatta died and such vyavaharas. How is it that Atman is nitya ? For that the answer

is given here.

One does not think that the Atman who is residing inside the body has died and when the body
goes through childhood, youth and old age etc. A person leaves childhood and enters into youth

and leaving youth enters into old age. These are all causes for grief because the earlier phase
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is lost when going to the new phase. But during this change, they do not grieve thinking that
there is any loss to the Atman as they know that the same atman is continuing to exist and

hence do not grieve thinking that atman is lost.

In the same way, when one leaves the earlier body and gets into another body, the leaving of
the earlier body is not cause for grief because the Atman is continuing to exist in the same way.
The meaning of the word €Y is here given by Bhashyakarar as ‘one who knows that Atman is

2o’ (unchanging, firm) according to the context here.

So because the Atmans are nityas, they are not ST — not to be grieved. This is the

explanation for the sloka ‘STeT=aT SFALT=HEAT .

TATAE 1 FAAH ACHAT MR TF AATRFHIIATAT TAEHH T A-SgE Y EHT AT a5 Teeagad
AT AU FETRFH AToE Rahet F FAATH Aasaadr s sf=arderat:
TSR EaT wated, T T Aa—ae AEHaH T et 5 |

Thus by two slokas the Y= and fAa<¥ are indicated. YT=T is the idea that atmans are nitya,
several and there is difference between Jiva and Ishvara. 73 is shoka with respect to Atmans

because atmans are eternal which is shown by the example of kaumaara, youvana etc.

Now the sangati is being told here as TqTaa= ﬁﬁ?&'{ The next two slokas (HI‘HIWR’IT%@ EARSR
oo EET: | AR T fafaee s )

and 7 2 7 = 789 2unY | gHgEdd 617 qisqdrd Fd )

are about 9T9% (means) and the meaning of these two slokas is combined here as sangati.

TATAE T FAHH ATCHAT AT UF AATRHHALTTAT TAHHNAA-SgHeT LT (0 dg: Teelagad —

This part of the bhashya explains the meaning of sgd@a.

FATRHAF9TTAT — The word AR shows that karma exists from beginningless time. This is also

established in brahma sutras (7 % SRR == FATRET ST T ITATT = (2-1-35)).

From this questions such as a Jiva who is by nature [&*a9T9 when did he get into karma
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bandha etc are answered. Karma has been existing ever since and there is no beginning to it, it

is anaadi.

o

T-3T3T4 etc.

And, it is due to the bondage of karma samsaara has come and not due to EIEER
The 3= or 15T defined in advaita darshana is &=+ meaning it cannot be said to be AT
or TEq (AEHTgere). If you say & it should remain for ever but it does not remain forever. If you
say 3THq it should be there at all but it is present. So it exists but it gets stultified also. Hence it

cannot be said to be FEHTZa&T is what is told in advaita darshana.

Bhashyakarar has answered this in fH@=acarqaaf. There is no 9T for such a thing and
the statement that it is anirvachaneeya itself cannot be told (this itself becomes

anirvachaneeya). Every object is according to the act of knowing it and everything can be

known as HETHTY or SFaTHTE. If an object is TE =TT it would mean everything should become

object of every knowledge.

TAHHITd-ag=8eI2™T — Though by nature all Atmans are SI=aaHTTs, the various differences in
body etc are due to their own karmas. One gets associated with a body in accordance to one’s

own karma.

YT T5: aeg=gad — The body is serves two purposes — one can get into bondage due to the
body and one can also get rid of the bondage with the same body. So, the same body which
one has got due to anaadi karma is to be used to get rid of the bondage also — ¥ 3&:. Doing

karma with the same bodies, one can get rid of it also.

That time the body which causes bondage will become the means for liberation and this is

indicated by the avadhaarana ‘U@ in 7% 3&..

T F@a TG JETeHH — If one does not do karmas which are 9TT&Tr — in accordance to the
shastra which is the Vedas, then one will be punished by the Lord for breaking his <18+, order.
And the 9T tells many karmas. Among them, one has to chose those which are ordained for

ones T (FTETT, & etc) and MW (€A, AATH etc) only. So Krishna is telling Arjuna that he
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cannot leave TZ and others which are meant for &= Fof and follow %&= which is meant for

FATETs. That is not 2=« for him.

AT FH FaaH — When the karmas are done without any desire for fruits therein, it will
lead one to fHqA.

FASTHAAAT Thea: Theaardeqat: AT aEg:@ar waied, T T AT aRaaHTE avdedT i
— For those which are not favouring us, what should be done is told here. The word T removes
that doubt. Bhashyakarar says those which cannot be avoided have to be tolerated. So that is
what is to be done as ones duty. The objects of senses come into contact with the sense organs
and due to heat, cold etc. cause happiness and grief. These have to be tolerated till the
completion of any eTT&E == that is being done. The heat that comes due to sun or cold that
comes cannot be controlled or avoided by us and one has to tolerate them. Their nature is being

explained in detail in coming slokas.

Shloka 14:

T S SAAA ST —
ATATETLATE] hivad ST qEg@aT: |
srmHTATRATSAET: a ffderes a0 14 ||

O son of Kunti (kounteya), O one born in Bharata kula (bhaarata), the contact with objects of
senses (maatraa sparshaah tu) give rise to cold, heat, happiness, grief (sheeta ushna sukha
dukhadaah). They come and go (aagamaapaayinah). They are not eternal (anityaah). You have

to tolerate them (taan titikshasva).

O Arjuna, the contact with objects of the senses give rise to cold, heat, happiness and grief.

They come and go. They are not eternal. You have to tolerate them.

www.sadagopan.org Page 39 of 73



TR ETLCEET: THAT: TrATATRIA AT ATAT (a0 S=awd | AATIRTN: quT eqari:
sargreTTRETgEgEsar wafw | sfiarsmerss: yasiamt:; am &3 aresarReeiasdaaT
e | @ 9 SR d4aat dvg TRAT: | ARET: T T SFUSTHaeHeTe aid IR
afY Rad s |

THH AW ATLHT g — Though this prakarana is about AT {AeIe and the nature of senses
etc are to be told at the end, the subject matter being of utmost importance, it is being told here

immediately:

TSR ETLTEILENT: ATAAT: THTATH AT ATAT 31d 394+ — The meaning of |TAT: is given by
Bhashyakarar as ¢z, ¥997, &9, H¥, T+ along with their a5 s, This is different from what is told
in Shankarabhashya (where meaning of ATAT: is =TT+ gfvaaTior). According to Bhashyakarar,
HTAT: does not mean senses but shabda and others along with those where the quality of
shabda etc are residing. 5% is the T[T of =TT, 74T is the T[0T of a1 etc. It is said that from
TEEA=HTAT ATHTL is created. From T7eia=aTT a1 is created etc. The effect of srsad=aT= is sTaHTLT
having the IUT of 9r&=. IUTFATAEE=T is the effect of THTAT. (T=HTA is in-between state just like the
state when milk is about to become curd. The state when it is neither milk nor curd but in-
between is called T=9TAT). The Tead=ATAT 55T becomes 3TT#TeT. From STETST dravya TIeTa«HT is
created and from this aTq etc. The T (2T57), AT (FT9), AT (FT), T (TH), TS (T74) are all
TurfafereseTs. The 9157, ¥991, ®9, A%, 7T+ and their 3TTs namely 19T, AT, T, o7, IFEET are

called by ATAT here. The FT4%=7 is also having the FTXuTssT (F79TAT here) and hence called by

same name.

AT JOT T9rT: sy gueaTesT@s:@ar 9ata - When these ATTs come into contact
with =TT= and other sense organs, they cause sfTd, 3T, 9, 929 etc which then give T@ or 3@ to

a person.

offareuTersR: TReTAT:; T S0 AT TR FAFHAATH fdfderea - The words ¢fTd and 3T are
just indicative. Why are ¢fi@ and 30T which are not relevant in a war told here ? The answer is

they are just indicative. They indicate §& and T:9. In a war, injuries caused by weapons etc. are
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causes of T@ and :@. ¢fid and I have to be understood in the respective I and sT=TaHs

according to context.

£ — In the previous sloka it was said ‘“fi&a= T Hg[f” and in the next ‘TR @gE € -
accordingly it means 2397 with courage. Or, it could be as indicated by ‘FI=aa’ and ‘aTea’
meaning ‘one who is born to a &= mother’ and ‘one who is born in a &= clan’ and for such a

person courage only is proper.

Just as in T, I etc. the effects of winds, heat, hunger, thirst, sacrifice of animals etc are to
be tolerated till the T or AT is completed, in the same way here T&=ITd, T[4 etc are to be
tolerated. So from these, the T:@ which comes due to the objects coming in contact with senses
cannot be avoided and they cannot removed by ¢TT% and hence tolerance (fafaeT) is only

proper.

T suumtuf?keug g9t &=q AT — They are not permanent but come and go. So the
courageous ones have to tolerate them. Tolerating the g@Ter means neglecting it without being

interested or involved in it. That is also because they also come and go.

AAAT: F UT eI qaFHAT A AR 1t fFade gered: — 79T is not TH=1<F (or
repetition). So the meaning is given as follows: When the karmas which are causing the
bondage get destroyed, though they are s TS, they also get destroyed. They do not come
again after T, So they are fHcTs. After FHATY they are no more present. =T here
means it is not TATEM. If the breakup of words is done as AFHTIATIAAT HeaT: then they become
T and it would not be proper to say they have to be tolerated. So it is ARHTITIEAT =T and

means MI*IHIHIQMIQ, H<hl d=HTaTg. They come and go and are not permanent and are
completely absent when one gets liberated (when the karmas which are causing this bondage

get destroyed, these are also eliminated).

Shloka 15:
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Maatraasparshaas are aagamaapaayi so they have to be tolerated. When cold wind blows or
hot sun is burning, sheeta, ushna etc happen as maatrasparsha happens. The wind and sun
rays come into contact and cause this sukha and dukha etc. these are not under our control and

have to be tolerated. They come and go and are not nitya but anitya.

TeeqaT et ? TATe

FeerT FoRmat 2 soe

Now examining further, the reason for tolerating is told.

Why should one tolerate ¢fta, 3o etc? (AT fafaerea) was told in previous sloka.

Is it because it is T, or AFET or FAXHAT AT AT IATT ?

Not the first one, because we experience grief due to them. So what is seen from T&EYITT etc

which happen in war is TE@=T only.
It is not SIFETH also as T&aH, TA&T etc which happen are 3T, So, 3= is also not good.

It is not due to third possibility. That is if something is just naturally coming in the way and
cannot be avoided, it can be told to be tolerated. But yuddha is not so. If one turns away from

war itself ST&9TT etc can be avoided.

The answer is given in this sloka. The word #1¥ in the sloka shows that it is worthy of tolerance

(e sEea).
7 R 7 =l oW e |
gY@ i qrsga@™ Fead I 15 ||

O superior among men (purusharshabha), one who treats these (ete) happiness and sorrow as
equal (sama dukha sukham), one who has the viveka jnyaana (dheeram), that person (yam
purusham), who does not get distressed by these (na vyathayanti), such a person (sah) is

eligible for moksha (amrutatvaaya kalpate).
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O Arjuna, only that person who treats these happiness and sorrow as equal, who has the viveka
jnyaana, who does not get distressed by these happiness and sorrow - such a person only is
eligible for moksha.

o et A ST o T T S gt s gt
TIAT: AATTATIRHGERLETAT 7 AGA T T 3F[qcd AT, T AT T@TERS: T | 31
AT FcaeaTg TaTag o Faead 3y |

HAS 15 @ q@a-H-IHH — It is not because one does not know the merits of sukha and dukha
or because they are of equal measure etc. It is because it cannot be avoided and 3@ also
should be thought of as §& only. This is like a person who is desirous of good health takes
medicine with the idea that it is good though it is not very tasty or it may be painful (like
injections, or operations etc). Also like one who is desirous of earning money would tolerate the
difficulties of travelling to other countries (say in a ship) crossing over the seas etc. In the same
way, those who are desirous of getting rid of 95T and gaining fAZfdera™+= should have a
feeling of @ in the difficulties which might come in the way of performing the means to the

same. Here Deshika makes it clear that Bhashyakarar mentions s¥qdq

FacaTg=adr — This is to make it clear that just tolerating ¢, IvT, etc might be there for
aads or the act of stealing etc. and that is not what is taught here but what is taught here is
performing the means for gaining 3¥d. So, in order to gain sYd, one has to do ‘T =rd

TZTewH AT Tga®a $aro and during such performance of ones duties the dualities have to

be endured with the idea that they are going to be leading one to liberation.

Fa=adT: — The word Td in sloka (¥ g 7 =rr=fvd Ud) — means that these come in the way of

performing the means and are unavoidable.

EITAT SR LETLN 7 HIT+d — Here Z=Af=q means they will not torture one but make one feel

that these are 3T9TH - not really the fruits and make one endure and get over. This is indicated by

Bhashyakarar mentioning =74l also along with FZETT.

T UF Aqacd Argafd — Here the words % and : in the sloka which talk about one who is T&TTW
(there is a faadTa®T £af here as Krishna is addressing Arjuna as &9+ and tells him one
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who does not get disturbed is such a one and a #1¥ and he does not have that &3 and should

actually become a T&U as such a person only will get sTHa@).

T AT T@TERS: Ta4: — Not one like you who is IR R TEI-gATeH e AT-3% and so not
able to tolerate or endure the T:& which is seen in this g973.

31q: sTeAAT AT — This sloka is concluded here in order to indicate that the doubt that may

arise regarding eternity of Atman is going to be told in the next sloka.

Tarag- This is what is to be done — means fafa&m T 7 q 9Ti#1( - tolerating or enduring only

and not grieving etc.

I — Here — means when the T&IYTd etc happen which cannot be avoided during the war which
is being done as a means to FYT@AAT-THIZITH and these are to be endured with the
knowledge of RIS,

Fdead za: — It is TO BE DONE. If not done, it will not only result in not getting the fruit of
liberation but it will result in Ie=T (punishment) for not doing ones dharma (Fr&rd ™). And

further it will lead to 3TIf etc due to absence of courage etc.

Shloka 16:
I ATHAT (AT IgTHT STHITAS AT o QIR T — TTATgATaTgs Arqena e afeedr:’ (2-
11) T TEIITERATH T |

T ATHAT (A T FTAT S ATI9cE o QTR TR — STATASTA e AT ed afeedr:’ (2-
11) =T TEIITEATH AT |

Bhashyakarar begins to establish the meaning of the sloka ‘ATadT fa=ra ara: Ar9TaT &= aq;

which is in line with the context here.

TETAT FATAT A ATfered — FaTITia Means the nature of undergoing change is definite and not

that without a cause also it changes.
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STTRT I Fi<h — Opposed to ST THT or 9Tah-3rATa-HTH — these are reasons why atman and

body are not to be grieved

dgqqlq@gﬂ\ AmeHAd — Till now the nature was just told but from now on it is going to be
established with valid reasons. Even this sloka is making a 3= that it is going to be

established and hence 3¥+Td. It is being started by making the statement here.
raar e W araTEr e T |
SHARY FEIsqecaar: qeacraim: Il 16 ||

For the body (asatah), firmness, sthiratva, ekaroopatva (bhaavah) is not present (na vidyate).
For the aatman (satah), the nature of undergoing change (abhaavah) does not exist (na
vidyate). For both the body and aatman (anayoh), both of them (ubhayoh api), the final

conclusion (antah), by those who see reality (tattva darshibhih), is seen (drushtah).

For the body, firmness is not present. For the aatman, the nature of undergoing change does
not exist. For both the body and aatman, the final conclusion is seen by those who see the

reality.

AOAT G LT T AU | GO Ay ATHETd: | SWAT: QTN ST IHTEAT: T o
T oY 3 - FviaTra~aTq e fAvi o7 o o= =aa | 35 sfIgegAY sraaa T
WEIH ; AT geaig eqeqrafa oy g sk | e @gran f§ st | sfaemereasmas
I | T AT q9R — TRt FAsmasia g i Faie B awgemay (=.g.2-12-
43), ‘GZgTa THT AT AAIRGT AT TAT qAHaaH1Aq (F2.9.2-12-45), ‘smsft qeamd arseqa rq |
TG AT T Fvagr ATfAgeaariRay (.4.2-14-24), ag FEmaon ™ arasm e T &1 aRomnt
Tt Tgeq 7 97 By (R.7.2-13-100) 3f | s - srvaqaea =& 3gr (1.2-18), st g afefey
(f1.2-17) 3 ==aq | ToT TATERT AISL G 7979 |

A TR ATEIAAT T AU FIF: | [QIACATE-TAAH qeT A g [ I
ATAEMTIRAEE-EaWTa-fEa% TF a<6e: | § U@ Targaaarg T (.2-10), ‘swqawa 37 g1’ (7.2-18),
TAAAH STITEI | STAT TI<E TATY: |
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FEAT IBET TgI9: 7 Ferd | qaT w1 AT9g14: | - The special meanings of the words Hq, 394,
ATd, AT are being explained according to context by Bhashyakarar. The words are to be

grouped as ‘&THd: Ha%'. They mean 3g&7 and 3TH: according to context here. So the meaning
of 39q and & is body and atman and & and @ mean 2% (nature of not changing) and

swrfeaTea (of the nature of changing).

SHAT: TTHAT: STAYIHTAAT: - The word FAT: addressing these two is explained as STAIHTAAT:

- which are both known here

Tqaere qeasfdfar: - As known by the a<a=fsts. Those who see or understand reality as it is
perceived. FEI5:  — in sloka the word T shows ITAFH-ATF T of a<aqe™ — that is the

tattvadarshana is definitely known or perceived or obtained. By this

sI=dT 3= T - The eternal principle which is addressed by the word & here is Atman and it does
not get destroyed, so 7 a4 14: ; That is the meaning of 3+d:. That is what is concluded with
respect to ¥ which is 3TcH. similarly the % which is 9T does not have TgTa. That is the

conclusion, 3~ with respect to € which is é‘g

for

AuiaTeaaTq AeTued Ao 27 o= e =ad — In this IgTHTaHTHI, the words TTa=fIT: etc.

also mean the same. That the final conclusion of a =9 is fAuaT=a. That is only meant by the

word 3T here.

ST ATAGEQAT AATAHT TAETH ; ATCHAA AT TeaHg Fq=aHId (Hudr g2 gl - Here a doubt is
raised — ‘It is not correct to say that ¥g does not have FgTa because it is against Ie7eT — what is

directly perceived here. We see body existing. Similarly it is not correct to say that 3T does not

have ITGTa because there is a shruti pramana ‘AdaacHY \‘:'IIH(\IQ (B1.6-2-1) which says that
during pralaya Atman is called by the name 3r&dq. Even from a point of view of FIEATAAT — A
and 19T are equal to both 3 and 3. So, just as commented upon by others, this should be
taken as talking about TcHTI4TE etc.’ is the objection here.
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That objection is answered by this part of the Bhashya. The words sTf=g&q: and Jq& show
the cause for the ¥a9Ta (nature) of &< and 37H<a. The usage of the word §q and 3Hq as having

= and &Tf=q as subject matter is also indicated.

Even then if such an objection is raised that it is not proper to say that ¥ and & mean 3rH

and 3%, , the answer is

faTer T 7 stomad | stfamraeasas 9<aq] - The word 2 indicates its well known usage
(rarTsfafE). s¥a means having the nature of f39Ter — that by nature it gets destroyed. And,
=@ means by nature it does not get destroyed. The ST in TrETahT of FETIIT is quoted
next. These slokas are dealt with extensively in SriBhashya TxToreg in fSI=ITETTeRTor which is the
first adhikarana. There the meaning of words aFg-3Ta], ATeq-ATeq and AF-37EH is established

quoting from Vishnu Purana. There Bhashyakarar has established quoting the sloka AgT HEayq

(fF.7.2-12-42) etc. as follows: a3 is because of AT, So, A, and =d+ are

o o o
fAafasfawT and sfAcaa and =4+ are gfaswEATT.

TTTH AT TR — ‘TEATH fastragastea Ffyq Fq wari=e B aegemay (.9.2-12-43), (the

next part of sloka not quoted here is AT H ST HEATS==: TgUTIITH) - the meaning of

this sloka is ‘(because 3I=g¥q is not seen as T=T) there is no F&SITA which can be called by

the word s1f¥aerss anywhere at anytime other than the Atman which is ST ET=T.

The explanation as given in SriBhashya : ‘here In this world which is mixed with =d9 and 1=+,

the f=rEer which is aTEMERI=Y and &= ¥&7 s different in its essential nature from the
If=rEar. As this frEer is STT=TTE, it is untouched by the changes and differences happening due
to the contact with matter srf=r<9r. So it does not have fa=Ter and hence is called by sTfEqerss.
The s1f=E9r has TRomHEE due to the karmas of the f=rEsr and is f=TTar and hence called by
Arfeqersa. Both these are w174 to paramatma and have HIM as their Atma).

TGS THT AT HATHT A1 TAT FAqaaaqaq (f4.9.2-12-45), (Taq TG GAagGd TAT FIh

aATrd ). The meaning is ‘The Atman who is STHEa=T is FeasaT=a and the other which is

ATt is F\cAerszaT=a. Thus you have been told the FgTa of Atman by me’.
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If an objection is raised that how can the words & and 375q be having the same meaning as
T and FET which have ¥R and 9T as fawr ? This is answered by quoting a sloka

where the words T7HT and 97HTT are used in the sense of AT and 3T as in :
FATIHT TEATI AT | T AT 7 deagl andgeamaread (f7.9.2-14-24),

‘The srea=a which does not have AT is accepted as T7HTH by FTHs. The 3Tf=rq which is made

of ATf9rz=7 - material which gets destroyed is subjected to AT4T, there is no doubt in this aspect.’.

The o, g etc which are indicated by the word fa=Ter, getting a different name and state
by leaving the previous state is called by Ta¥qsrsa. Absence of such a thing is known by

FEqeres. This is seen in the pramana below:

A FTATA LN ATFEATHATT F| TROTATR §9aT dgeq 77 ag 7 (F.9.2-13-100) =T | The
meaning of this sloka is ‘That which does not get a different name which comes due to changes
at any point of time that is the 3fT@a®]. And, which is that ? (means it is not anything among

those which can be seen).

(the matter takes different names and forms such as river, sea, hill, etc while the atman is
always same. The same mud becomes pot, kapaala, churna, anu etc. and does not retain same
name and form always. Each state has different kaala, form, name, vyavahaara-use etc. while
atman is always jnaana svarupa and never gets a different name or form. Different name and
form is obtained by prakruti — it gets vruddhi etc. Atman is same — ekaroopa always, he does not
have sthoola, madhyama avasthaas etc.) Mula prakruti is nitya only but get modified into

different forms and names and is not ekaroopa always — get modifications all the time —

TATIILOTT,
This the same told in Gita also is shown by:

AT — ‘Svdad 3H agr.’ (1.2-18), ‘STfe=Trer g afafeg’ (W.2-17) =fd =L=ad — By this, sometimes
the =a= being refered by AHF-9T=< is also due to leaving the name and state of =7 etc. and
taking different sra=aTs and that is essentially happening to the body and it is due to the karma

of the chetana. The essential nature (Fa%1) is always fAfd®1¥ and called by #q-¢152 only.
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Bhashyakarar refers to the 18t sloka first and 17t sloka next only because the Mula sloka talks

of ATHa: first referring to 37,

[enN

dad Hxad<d Ao agﬁld THId — The reason for establishing the TfasTaTl (what is known) is

normally told after establishing the facts only. So when the reason is known naturally one

cannot leave that and give different meanings to words.

A HCAHTIET TTEIAAT 7 AT T - HehtddTE is not relevant here. AT8d: fa=ra wma: etc is

not talking of ARTIaTR as it is FETHTAaFTHT0T and not about cause-effect etc. Because, by

knowing TeRTAETE, one cannot get IgTcHTaA® or HIgLTi~.

TRTHEA AT -AATHH g eT TrRIgATaY g IHAT: AT eI reasq-saHTa-faas U awed: | § ua

MATATAEA (1.2-10), ‘sreqavd =8 @’ (1.2-18), TAAaH STITAT | ST T TaTd: | - The
ATg which has come due to an STTH can be removed by giving SIT9 about it only. Arjuna had
moha due to not knowing the nature of deha and atman and that can be removed only by

teaching the ATIAA-FATIa®T-Fa9Ta of the deha and atma.

[[ Here the word ‘@=HTger=a¥” indicates the gist of the second adhyaya as told by Srimad

yamunacharya in Gitartha sangraha ‘T TRHE =T Aegd R T | G Raaeierar s
FerTgAT=ad I (The Atmatatva which is to be known from H&aT which is Ff is HTeTT:, means
s TaTIET: which is obtained by knowing Atman is nitya. It is RETEARERT. SHSTHAGEIET is
TrTefT: - which is knowledge of FHART known from 3T, From these what is to be attained is
forqursrar — AT

1l

Il

TRTIATR is that T exists in w1 This is accepted by HT&Ts also but their FTdaTs is different
from our FERTIATE. ATEs say Tad H1Id AHH A9d: 99 Fd.’ etc. they say that even the form

etc exists as is in the cause.
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We say that the cause has the 9If< to become FTH. TAEATALTRT is only FTF. FT is 7 from

TN (TEATCE AFAULSETCET:).

The Vaisheshikas say 3341z is taught here. Their sidhanta is that karya does not exist and
is created from karana. The pot which is made of mud did not exist earlier and was newly

created. 91T (379919) is different and a3 s are different etc.

Here there is no room for thinking that the 9rfo=aTe is refuted or that TsfE=sTA= A= wiasm

or AT HZT= etc.

The meanings given for 38, |q, ATE, A9TE by ISEATH as ‘T a7 and their effect which is

T, F<q and its effect §@’, AT and AT are not proper as they are not in accordance to

the IR,

Shloka 17:
AT T ATAATIAE FIH ATIA A 37T g —
HTCH: T ATAATIAE FAH TAEAT S 37T g —

Though in the sloka ATad:, the atma tatva is told in the end, it is most essential to remove IED

and hence it is first being established here.

The word T shows that the birth and death (STH9-H20T) is seen by everyone (A ERIET PTG )
and also from shruti pramana which says ‘TAsIT S[I¥T: AT AT7IAT] fAqeg i’ (3.4-4-12) (4-5-
137?) meaning 38 and 3IcH exist together and get destroyed together! Yajnavalkya tells Maitreyi
while teaching Atma Tatva. Further he says ‘T I H#aTed11d .. After death, atman does not have
a name — he is not known as deva or manushya etc Only when associated with a body, he is

identified with a name. Maitreyi says you have thrown me in the midst of confusion —
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‘HrgaaTdIa9a. Yajnavalkya goes further and says ‘T aT &< HIg &8 | am not confusing you
and says ‘ATaATefT AT 3T FTATHT A= reAT etc. (atma and his dharma are both stfa=Teft).

This aspect of Atman which is different from 33 is indicated by the word .
srfaaTi g afefE 37 aafaE e
RrermeraeTer 7 FEg a1 17 |

By whom, which (yena) all of these (idam sarvam) are pervaded (tatam), that aatma tattva (tat
tu) - to not to have any destruction (avinaashi tu) - know it so (viddhi). For that unchanging
aatma tattva (avyayasya asya), causing destruction to it (vinaasham), nobody, nothing is

(kaschit), is capable of (kartum na arhati).

Know that aatma tattva, by which all of these are pervaded, as not to have any destruction.

Nothing, nobody is capable of causing destruction to that unchanging aatma tattva.

T ATy, AT 3fa fafy, I s Iaae aerfafRey 3a seaa 99 ad =amad |

FTqFE AfarageEAaTg st fAamemgen qgrfaiant 7 witrq warat fammst wgq i,
TSI TATAT TEHT ST | 7181 8 rasarTRaraties ared s faf¥etsafa | geae: afv ®
AMAEINNT T ST TEIXT ATLAT; AT SATCHATAH AT |

T SreAa<ad AtaTer =fa fafs, - The mula sloka has @f3fE — here @ means sTera<as, srfa=TRer
means 7 a9y offeme -

I SATCHATAT Fq Ag] (A {hH 5&H d=a-a<d 94 ad ATHH — The second paada of the sloka
AT ==EATE 7 FAq FHG A teaches 9T — reason for being avinashi. The word 94 is given
a meaning with reduced scope (like T/& T TUTTgfd:) which is in line with the anvaya here. 339
means that which is different from atman and outside it and is 92T @<a. While the Atman has
=d9ca and for that reason only the =A@ is ST as #TTH in A=A+, TTH means ATHH — pervaded.
The =AaHETT - the entirety of matter is pervaded completely by the =@+ HH&TT just like -
d, FTE-atvg etc.
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OR, the =TT may also mean that atman has the capability to enter into all the 3=a+s and
hence there is no f&Ter for its s, T =TT ... Alavandar

Here the examples are: Atma does not get destroyed being controlled by T& etc. because he

pervades over them as he is §&94 compared to them, just like 3rhTer.

The =xfa¥= T can be — That which is destroyed being in control of something, cannot be
more subtle than that which controls it. Just as & which is destroyed by 91g. This is indicated

as follows:

T (A TAEEHETE SATCHAT (AT e ed Tel I Iohl 7 FHi%q Tarar &eTer FigH Tafd — Since
Atman is ﬁ'{'ﬁﬂ'&'{&‘ﬁr and =TT it is T3¢ and any object other than it cannot destroy it.
The word =T means faAT91-319%. The reason for that is that it is fefaerees. Ffarq is
interpreted as TgIfafi<h: H%q 7aTf: and does not include =¥ as commented upon by others
as it is against our siddhanta. This is indicated by Bhashyakarar as ‘ST <h: HIq T4’ —

Ishvara is also of the same category as Atman. This is addressing &fH.

AT TAT TEHT AT — The reason why any other thing cannot destroy the Atman is
because other things are all =T and =41 by atman. They get pervaded by Atman and hence

they are T compared to Atman which is F&H.

qrere B arrsrarRETaTtas ared AT fAteawT | ggred: v B e ane arge ST
TETLOT ATerA{ed; - Examples are given for this. The Pot which is destroyed by the hammer is

shown as example. Here one thing we have to observe is that it is not mere contact of hammer
with the pot that destroys it because in that case if a pot is simply placed on top of a hammer,
contact is formed and it should get destroyed. But we see that it is not so. It is also not the
speed alone as in that case even if the pot does not come into contact, it should get destroyed.
Not even the contact and speed alone as in that case even if a grass is brought into contact with
speed, pot should get destroyed. Not even aTaq-=A A 2TIHANT - because in that case the
bottom part of the hammer (let us say made of wood) when it comes in contact with speed also,
pot does not get destroyed. So the cause of destruction is ‘FRTEq-FT AT A TrE-
FATTATANAATETRIEAT . That is the FTIfEAT-3<af<r that happens by such an action is
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TereAf¥E. The air enters into those objects and pervades it and then causes the destruction is
accepted by all. So the fact that air is the cause has to be accepted. That air is §&®7 compared to

.

AT AT AT — So, the atman which is T&7 cannot be destroyed by ¢T& and others
which are =T and there is nothing which is more F&# than the atman which can destroy it and

also due to the absence of #g#e7 of 277 to destroy the atman, atma tattva is sTfa=Tr.

Shloka 18:

gt g e e s sme -

What was told in 9TH9q: is being explained in detail and the words 9T and TF&TX9 UF show

that faTer is for only 3 which is told by the word 1.
e~ IH <gT AT o |
FATIAAISTRIET TEATLEAT AT | 18 ||

For the eternal (nityasya), indestructible (anaashinah), that which cannot be grasped by the
senses (aprameyasya), aatman (shareerinah), these bodies (dehaah) are told to be having
destruction (antavanta uktaah). Therefore (tasmaat), O Arjuna (bhaarata), engage in this war

(yudhyasva).

For the eternal, indestructible aatman, which cannot be grasped by the senses, these bodies

are told to be having destruction. Therefore, O Arjuna, engage in war.

g ST (ATgUTS 1015) S ST=HAEAT TH 7T Svqaa: AW ET:, ST i@ geed:
Svaa=dr guT: | e aQRon: FHRATITEAAT SaEarasyT <8 "ud: Ui’ (J0 S0 41415)
TATIRLATA: IHT: FHIGATATAATIAN: | AT  ATAATH, F: FATAIEAT | 7 8 AT THITAT ST,
AT g THIIAEAT | T F T - "TAAT AR & Vg A+ 30 afge: 11 (Rar 1311) s a+
AAHITAATHT AT STAH | AT I 'AGH 38 TATH' ST GG SI7IET THTIAAT THEIT IS |
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T QIS TT TIHS TATY: SHTAT STAH, AT THEIAT AIAITHFAT TAAT SATTHeAT 9
AT fAer: | 37 T STRATHSATY TR FHRETTRTH AT SAFETeaTg sATaearq 7 faamsft | aeg
T BT ST ReasacaTq 9 ST i 7 ey 3 searieueseqsig
AT TR AT A HIGAT SA@ITHY AN Rahe JaTed HH CHE |

g ST (TgUTS 1015) S IT=AEIT TH 7T s=qa=a: — The gq reason for telling =@ is in
the word =% itself which is the aFTsfadTaa and is derived as &g 3T=4. What ever is 379951 is
199 is indicated. The word 3% is by ®fe (F&=f) gfiwfaaras and by TRT (A=) it is
FqTdaTE®. So whatever is ITHIET is w4+ is told in bhashya.

famTerEaaTaT: - The meaning of ‘:@% and 937 of the word 3t=q4+d: is given here. Here the word
&1+ is not giving the meaning of 7T as in =997 or IRATI as in T97 (indicating conclusion or
end of a region etc) etc. The T&F 7Y gives the meaning of eI T here. This meaning is only

proper is shown in the example,

STFATHT g 9ered: s=qawar g8 — The meaning of the word svaa=a: is faT=aa™™ is shown
with the example of pot and others which are of the nature of increasing etc IT=aTH= and they

are of the nature of getting destroyed sometime or the other and are not eternal.

Ferer o fRor: FwasTRTaaT SaEeTaSaT 38T U quA (0 S0 41415) TATRAT: ITHT:
FHEAEATIA: — The 9T or AT who is nitya. Here is the words e and ¢&if¥ show #fa
and FTTIRT T9T9Ts. (shruti and sutra pramanas — et R T SaaEaeTT.. Sl 9ie: garad.. ..
ATCHT o Ty aT+...) STATI is a pramaana accepted in advaita darshana as an
independent pramaana. We include it in the three namely T#&1, 3TTHTT and <<= itself. Here the
shruti AT T etc show atman is nitya and since it is just now established that 3% is 3=,
%2 or eI is nitya is understood and established by that itself (like Faaw: d=: f&aT 7 Gz - it
is understood that devadatta eats in the night). When we say 9¥1T¥ is nitya, shariri is addressing
atman with a sharira. When we say shariri is nitya, who of these two is nitya ? Since sharira is
anitya, atman has to be nitya. This is the srITaf< JHTT. Even then we may get a doubt about
how did the atman get connected with the sharira ? So how is it known from these words? This
is explained in FH%.. etc The =4 which is known from wHt fasi=F of erifXor: is with w9 and
that is the .
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Here by the word =¥ in Z& %2T: — all things seen in front are addressed and this excludes T
who has a body and His body is not due to F as HE is {97,

Jae=Ta=aT — The sankhya kaarika says HgaTAUTE@Td — the THSHTT also shows it is anitya.
The &=+ of the word 21T which is faeoEa 9T is shown by FHRTEEEEATEN: in bhashya.
Some darshanas say It and fa=Ter for ¥8. Some say it is only due to FH. In all these cases,

when the karma ends, 3% will also get ATer. That the deha comes due to karma is shown by

shruti pramana (Bruhadaranyaka shaariraka brahmana) — ‘|Te[ET<T |Te[HaTd ITIhTLT 99T Tt

U qUAS FHUT AT ITT: 9799 etc as taught by Yajnyavalkya to Janaka.

Like this, =W, 3gT:, eI - these three words indicate aagHTIRTE, TTaTAE, FHEATRTIE —

and all these are reasons for knowing that sT¥i¥ is anitya.

ATeHT TS, Fa: ATHAET - Now, the nityatva of atman is explained by =TT and
ATHAET in the mula sloka — first one is AT&T and second is gq for the same. Here the words
fAerea, s=Tia: are not having T9=1<F. This is to show that what is 9 is Ter-3Mg and hence to
make that point clear the word 3ETIa: is told.

Heree a doubt may arise — in our siddhanta, atman is also JHTIETT and hence how can he be

addresses as THF? That is answerd as,

T R SIrewT TR g, AT g TG — The negation here 7 is in the sense of TH&aTH —

that is it indicates things other than 8o here. Ta=a-gfawer and T — one negates directly
and ther other means everything other than what is indicated. Eg. One is negation and the other
is inclusion of the other group. It is like 3= STEHT in where 3T9H is gAY — &H is 3T and
what is other than & is IU7. (like 3 = — the word 39T says that it is present in what is not

9. And is not for negation of 379 but inclusion of those other than 37.)

To eliminate 9T¥1¥ and other things which are only S¥a=a49Ta (those which can only known by
someone else) and establish SHTI (one who can has knowership Tqc) — that the 21T does

not have the capacity to know anything and so it is only of the nature of THIEa9T — It does not
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have ST as the 32Ts are inert — =@+. Whereas the Atman is SHTAT one who knows other
things — he is not H= but SHTAT — so addressed here as SITHA: — T THA: U THTAT.

This is how the diferentiation is told between &= and &= is told -

TIT T T&Q - "TIAT A T WTg: &=+ sha afg: 1" (ar 1311) 3 - oA is Aihr. a7 is 9°T and

atman is STI<hT is shown here. SHI is here concluded as W@ and 9T is WIhed.

T T AARIIHATHS ATHT IYTIA — This is to show that there exists FTaTIIwA e for ATz,
TRATIATeH is also a pramana — no one has seen an atma which has growth etc. like a body
even though there are instruments such as mind or light etc and hence it has to be accepted

that an atman which has growth etc is not valid.

AT I3 "AGH T AT A IgTE AT THIIAAT THEA I9re8l: — Here @47 is to be taken as
covering entirety of deha. At each and every point of the % there is this awareness of ‘| know
this’ by which we can conclude that SHTT who is atman and different from 37 is known as one in
the same way — T&&T 39«Tfse. Though we say that my head-ache is fully relieved but | have
pain in the leg etc. such =ags of T@, 3.9 in specific parts of body, the atman is fF¥a=f= only
because everywhere in the body it is known as ‘| know this’ a%‘q%?ﬁﬂﬁ only.

OR, 97 3 may also mean that in the multitude of varieties of bodies such as 3@, AT etc.

nowhere in any body the aradaca of atman is experienced or known.

The word 32¥ in U&= (singular usage) in any body shows the T# of the atman. By this, the
fact that g, =fva®, &=, 91T, dTeT53+T is also established.

The word =39 shows that 37 is just like T2, & etc — house, land etc. The usage of Ia15gH etc
are with an idea of Tqafa3 for one who is knowledgeable, and due to 9Tf=d for one who does

not have the knowledge and so there is no aTd.

THTITAT — while knowing something atman is always known as 9HTq only. When not knowing
anything also, 7 frfyag® I=ATETH shows that he is known as YHTT only. While knowing himself
also, ‘38 AT ST’ — shows that he is known as THT] clearly.
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Atman cannot be known directly but for his existence and is known as T#a, %1 and

w#d. Other aspects such as ([, 9@, AEa=Id, FHALTA etc are to be known only from

ATHE.

T FAARTAATHT ATCHT ITAVIQ | AT T 'SGH 38 ST Z(Q Q15 AT TAGAAT THEA
IR |

T T IQIS: TT TIAAS TATT: ATHAT STARA — The same thing is being told in a different way. In
the 2gs which are made of T5¥[ds, the difference related to respective ds such as Ifafa, o

etc is seen in skin, blood, muscle etc. and this is not seen in the IHTY who is atma. It is also told

in shruti as Fcd: I5T99= UF (4. 6-5-13) etc.
OR 3T#TTHAT may also mean 9Tf9T, 9= and such positional differences.

AT THETAT ATTATHHAT THATIE TG, SATTHAT = AT fAeT: | F: T STHATHSGcET o
FHRAWNTIETE FAHFETATE ATHET 9 faameft - Thus Bhashyakarar summarises for easy
understanding the four reasons (2qs) for establishing i@ of s and faATfera of 37 as told in

the two slokas sTTaTIr q Afafa and svda=d = <=T..

T THETET — Means it is not due to the HZ=Td of T7¥ds (combination of the elements).

FqIAATHFAT - Because it is Reaaa.

3T is ITAATHSE being FAHET, IS FHRATNTL, AT

TCHT is AI=ATHSF being THET, THI], ATTh

Now Deshika puts several objections to all the above group of ggs (reasons) and answers them
properly too. He lists eight SaITsi=Ts for establishing these facts about g and =& as done in

these slokas:

1. The anumanas that establish @@ of sITeHT are possible with A F=ATHYRS as in Iq

rETENA TSl T |Taad TAT .
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2. From that only the fa%3-#Hs of 38 and AT are shown and thereby the %@ between
deha and atma is established

3. The power of TaTIA etc with which the effects of ST& and others can be eliminated and
so whether it is possible to attain fea — removing such a doubt is the third use. The
answer is NO.

4. Establishing the AT and the causes of AT4T of the 38s helps one to get ST in ones own
body.

5. Other bodies are also anitya just as ones body. So Arjuna kills someone and gets a
feeling that only because of him the other person got killed, it is not true because
whether Arjuna kills him or not, the other person’s deha is anitya and has to get

destroyed for some reason or other. So the destruction and its cause are not Arjuna

alone who is causing it but by nature bodies are non-eternal and hence Taa=a AT S HTA
is removed.

6. When there is reason for destruction, deha will definitely get destroyed. By knowing this,
one can also know that if one does karmas without desire for fruits, the cause of the
bodies which is karma will end and the connection with the body can be destroyed for

ever.
(Prarabdha karma — abhyupagata, anabhyupagata

Deha is F#HTaa™ AT — an Atman gets a body to enjoy fruits of certain karmas and
once those are finished, that body goes. Then some other karma may come into force
and he may get another body according to that karma. When all the karmas get totally

destroyed he gets rid of connection with deha forever and that is moksha or liberation.)

7. Not getting grief knowing that by nature deha is 7°a¥ is the seventh prayojana.

8. One has to engage in means which will liberate one from samsara is the eighth use.

Similarly many other uses can be thought of.
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TET el faemerea e st e et 7 IHY Ife 7 ensream= i - This part of the

bhashya explains the meaning of the mula ‘T&TT in ‘TEATY JETFT LT .

TEITATISIRTETLT, FASAA AT, TN, AT SI7 Jigar — What was taught in F=meTeri=] and
T g T = a9+ - these two slokas that one has to tolerate the dualities such as <fTa-3v7 etc to
get STE=TEA is told here. Just because it is gaT&E=, T 3.3 is also to be tolerated or
endured. ¥ T4 is 3.9 that is part of the karma which being done such as I=T, I5 etc. This

also includes T=99[, T7[s etc.

ATy — To show that this I is not to be waged for undesired lowly fruits of the nature of

kingdom, its enjoyments etc., the fruit that was told in the beginning of this %< is again told

here as STEITHI.

FTERawe JgTed 9 AwEa — The meaning of the word T3+ is given as JETET FH AT

without desire for fuits thereof.

Shloka 19:
T T AT g T T g |
IHT af 7 AT A g T g 119 0

That person (yah), this aatman (enam), considers as a cause fo killing (hantaaram vetti), and
that person (yah cha), this aatman (enam) thinks as the one killed (hatam manyate), both of
them (ubhou tou) are not knowledgeable in this matter (na vijaaneetah). Because he does not

kill (ayam na hanti), nor does he get killed (na hanyate).

That person who considers this aatman as a cause for killing, and that person who thinks of this
aatman as the one killed - both of them are not knowledgeable in this matter. The reality is that

the aatman does not kill, nor does he get killed.

TAH — STHETHTAATHT T, FFATE ARG G AT A ; TAT FATS QAT gl AVAd ; ATAT
e, Stheqe Recared 9 gvegA Watd | 37T U 9 SIFHTHT 7 g9 | gRaaTqeaTcisi .
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RfAARERCETE | * 7 e gat s@re, * ST 7 g sy arartor srfafga e
TR |

What was told in sfa=Tfer  afafa and what is going to be told later as #+ feg==f+a eratior.. that
gr&T's cannot Kill and Atmans can not get killed is being told here by way of condemning those

who know it otherwise.

T - STHEaWTIATHTH ST — The word ST is to remove the doubt of STHTATIIFTT between TH
and g=TX — that is to make it clear that the meaning is not T= g=aT< afxT (think he is the killer) but

U AT Wi geaTe.

AT gAFgg FATY AT AAQ ; TEF FATMT gqAT gd A-AQ ; Tt 7 f&Asria: — Anything cannot be
cause (gq) of killing the atman. Means among &a&+ and other gs, anything cannot be the cause

for killing atman.

What was told earlier as ‘faaTera=aaeamea 7 H%q FqHg 0, the word {21 is addressed here as

FAT (qeqfafeenT 7 FiR Tt et i )

This Sloka is the explanation (ST - farer&iaom) of FEAMT — ‘T AHT B FATEHAT gaH |

AT AT 7 FASEr 919 gfea 7 879 1| (F.1-2-19). That shruti is commented upon by T@qfer in the

sutra ‘T AT ITq (2-3-33)’ as atman does not have g=<a or g=a=a<d and it is primarily to
negate F7 itself for Atman. But in our siddhanta, we accept that Atman has & but he is not
killed or does not kill because atman is nitya is the message in this mantra and so our siddhanta

is that it is not talking about whether atman has #J or not here.

So is it proper to say g9gd FHT instead of samanadhikaranya for U= g=a12? Deshika justifies

what Bhashyakarar has told in SriBhashya and here as proper.

Bhashyakarar also comments thus ‘Tg<h gwaT A=A SATIGAT gATRATATH A STCHA: FAT

and further clarifies this as, ‘TaTHAT Acacas geaaaca dATaTg=ad’. And thus the 3T which

seems to be implied was explained by Bhashyakarar.

But here, T g=aT< is commented as FA-gq #AT° and not taking ATHTATIEEZUT into account.

Deshika clarifies that there is no contradiction in these.
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‘o T2 T57 FEATT gal: AcHG A g qcd ATECIhH | TAT i AT ScHgATgqcd ATed [eq<h 9ard |
TE F 3 TS [FAaHSar A9 3 a<F. In the Brahmasutrabhashya, Atman does

not have °h<i<°| in gA9THAT was told is a special case of what is told in general here as by any

means for any reason atman cannot be destroyed because he is nitya. So there is no faZrer
between Sutra bhashya and this. Here, according to the Y& it is told as A== a9 that
Atman cannot be killed by anyone or anything because Atman is nitya. The aspect that an

Atman also cannot kill another is also told in ‘F&TEHTIHH..’, the 21t sloka here.

Sheq e MeacaTed o1 gaggH Wald 3 U 9 SIFHTHT 7§99 | — By the causes as already

told, because Atman is nitya only he will not become also the cause of killing.

Here 313 g9-eq;, 1T SHT — these usages of 37 are in accordance with 7 37 gfvq, 7 o1& g=ad
in the mula sloka and the first is to show Fd@ and the second FHa.

graeaTqATEHEE: O RATREETT |

Deshika explains the objection here shown by the word sTe@=%: in bhashya:

How about the usage ‘AT gf+a@’? It is not mere SERATAZAATEYT because we also see usages
such as =T, ATTET etc. with respect to those who are dead. And, words such as T etc are

#reATA=T in our siddhanta. The usage ‘AT fS=afa’ - kills me — gives the meaning of Atman
being the object. So the & for fZAT should be =T+ only and how can we explain 7T gfeq 7

e

The &Tq gf+a is Tc®H only but it does not tell the destruction of the Fa&T of the atman itself
but is about ATZ - killing. That is how in &% and 9% it is widely used. ATI is of the nature of
separation from body. The dhatu = JToTTT shows this. That is how the usage is handled. So it
is not TAEIATST but TEZEAFRT which is meant by gf+a, g7 etc.

* 7 T @at s[arta, * JArgqun 7 geaed: sy aretor stfafga el faaer sworfawanfr - Then
what about %‘Fﬂ'l‘c{ LEL %ﬁﬁ? This is also explained by Bhashyakarar because one may
assume that whatever it means (8T or f39r™) it anyway does fa%¢r of killing and hence

should not be done. These are talking about not killing outside of faf2afaw= which is in yajna
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etc. as in ‘SRAOTHIF TgHATANT (a pashu should be offered to gods agni and soma). In Yajna,
dharmayuddha etc. the killing of 79[, 7 etc is T&aa@# only and though there is f@aTe, 9T&r says
T3 FeI: 194, Outside of these (that is where it is not faf2a but sfafza), killing should not be
done is the meaning. This again means AT RTFTT — separating the body from the Atman.

Shloka 20:
T STaa o AT Fare AT S[eET wiear ar g 931 o
1T e arEAST QoI F R g e N 20 ||

This jeevaatman (ayam) at any point of time (kadaachit), is not born, and does not die (na
jaayate, mriyate vaa). This aatman (ayam), having existed once (bhootvaa) again in the future
(punah) cannot be told as not existing (na bhavitaa vaa na). The aatman is not born (ajah), is
indestructible (nityah), exists as eka roopa always (shaashvatah) seen as new always, though
beginningless (puraanah). Even if the body gets destroyed (hanyamaane shareere), the aatman

does not get killed (na hanyate).

This jeevaatman, at any point of time, is not born, and does not die. The aatman, having existed
once, cannot be told as not existing in the future. The aatman is not bory, is indestructible,
exists as eka roopa always, and is seen as new always, though beginningless. Even if the body

gets destroyed, the aatman does not get killed.

T B s s et SAaees: 99 U seaAQgydt 7 gedieg=ad | O
STad B sfa adaaar a9y QY TICTEAT STATHO FITEGT AT 7 Tg9a: | 9T ST
ATAAT a7 T 5T’ — F FEUTRT AT ST FEAT 9 7 AT | Fyf= Srafaayfasesy

ARTHATIT I HEqTal S HeqTed o L0 AT 7 SYLAATY: | Tq: FASGITq-SACHT ST, 3 T
e, s yeftag afere-aaa-afiomd: s aha, g i 7= ader srqdaagyrsr s |
A AT AT T A ST SATCHT |

www.sadagopan.org Page 62 of 73



The sloka comes in F3MMHYA but in place of faafard we find here FaT=rq which is AT that
is according to the gist of the context here. This shows though Atman has different states, he

does not have the changes/modifications such as found in the body.

I gGM: - For the same reasons as told earlier. This is told to remove any doubts that
whether there is T<r with respect to the sloka in FamfHwq and whether there is Seerfarer -

we see in this world that people are born and they die.

@ saRonfArg - As Atman is ST, there is absolutely no faT. Here ‘fammer means
A TAEATIG TR I-ATH - ST -3Tg -AaeIT=aera .. Just as a o< takes FATATaedT. Getting ready to

get into that state is its sT727a1. The same =7 is created as FATATIIE. In the same way T,

TR etc are to be cited. This is told as Ffrhcda Fa3. This is being told in detail in STa+ @

@t 9., Thus by refuting faMTfere, S+ and others also (312:) stand refuted for the Atman.

HTHAT STATHUTEY: 94 U Aqegad 7 g=iieg=ad — The words ‘@3 T3’ show that there is no
q9=i<r. The meaning of TF here is 3T, That is how = is absent is shown. Not only g=aaaa
but also (31T ) = and others is the meaning. What is told in mula sloka as ‘AT 9{1< is
commented upon as ‘Tg4™T:’ and it indicates ¥, ¥ and such usage (FTFEATT:). The
cause (gq) for it is because it is 37=a.

Arjuna was thinking that the Atman has S+, #9T and such 3g#¥s as they are seen in ¥7&T and
to him Krishna is teaching that the é‘g‘a‘ﬁs such as STad, A etc are not there in Atman. This
Lord Krishna does using the upanishat mantra itself and by clearly distinguishing the attributes
of Atman and body. He is not refuting the facts of birth and death which are of the nature of
coming in contact with a body and getting rid of a body. The word =T in sloka has the meaning of

= (also).

T A O S aaAmaar 99y 38y 9 CIIHT STl SRTare ST 7 Tgerd -
Bhashyakarar comments that this birth and death is being thought of in all bodies by people
even in the present and hence there is no 7%=k, Also, the addressing of past and future should
not exclude present and hence specifically it is told as adaTTAT. People who existed during

different times had in those bodies the experience of the nature of ‘STTara {4’ about birth and
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death. That way also adHTH <4 is proper. So all the times other than beginning of kalpa and
end of kalpa is summarized as FaT=d.

AT S[@T WAAT AT T I — A HEqTat AT YA FqTd o 7 7 9iaar — The past tence in et
means FITaT and 93: means FIT=1. The 75 is not to be taken with each of ST and wfadT as

T S[caT 7 ATEET but it is to be taken as ‘@t T wiAAT =fF 7. Note the difference in 7.

FYFE T ASSY ATAATIA AT FEqTal S+ Fedred o 70T ATHTT 7 TgLrfieaey: -
Bhashyakarar is answering an objection which may arise here. If 7 ST 9= is told, why

should it be again told as AT 4T etc specifically addressing Feq mf and FaT=a? That means in
specific kaalavisheshas such as beginning of kalpa etc., dehavisheshas such as chaturmukha
brahma etc srushti/pralaya are all told. Is How can this be due connection with body etc? is the

objection.

a. The shruti TrI uﬂql-i STEES THTH (Fe=erIo) says HE created, did 11'@ of the Sftars

STTAT et also TSI ST g, ‘AgTevarTa el Haca<l dsad’ etc. and also
‘STATHH AAL AT, FEAL THIT AAS TH: TG Tl qafd.

b. Before gf¥ the shruti says ‘T FFRITHY ATHIG THHATGAIH — THHT the ST and
due to that only U=+ Tafa= is possible. Knowing one everything is known. That

ONE only willed and became many — |ISHHIC, qgwi TSTaAta’. From this, how is it

known that sfraeasT Ieaf=r-ATer does not happen?

The answer is — the creation of Sfias means making them come into contact with g and
zfvaTs. The THATAHTI before B shows ATHET-FAWIT-79Ta. Absence of differentiation
into name and form. Brahman which was in an undifferentiated state being inseparably
associated with subtle sentient and non-sentient principles became differentiated into
sentient and non-sentients with names and forms and still remained inseparably associated
with them. So it is explained as follows: TEATHRGEEQUITHET TZ[T: TATHR e LHAAT
g | The differentiation is only in the body of Brahman just as the body of a sft&

undergoes changes due to youth, old age etc and the S{/a remains untouched. ‘Alwar says
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yaavaiyum yavarum tAnAy avaravar samayan torum toivilan’. That is how IgHaTasHeT is to
be understood. So during the beginning of a kalpa the Sfi@s including Chaturmukhabrahma
get associated with a body and indriyas and at the end of a kalpa they are separated from
their bodies. The karmas caus a reduction or increase in the attributive conscience of a Jiva

and he gets a body according to it and it is not T@&TIca =y because S is nitya.

Aq: GAGI-3THT 3T9T:, 3T U AT, — So the atmans who exist in all the bodies are all unborn
and for that reason only are eternal - nityas. So atman does not have 3t and hence does not

have 9141 also.

AT THfaaq AFALTE-qaq-aiormd: e Fad - He is also 9ma@ which means the atman does

not undergo changes such as ¥J@@ or &HA like FHd. Prakruti undergoes f3er@ and stfarsr

gfrorgs. srfaerea Ry is during samashti srushti, mahat, ahankaara etc. f391= is during vyashti
srushti — all those that we perceive here. So there are two types of Fa=aqRuIT for prakruti while
the ¥&® form remains as ﬂﬂ'ﬁﬁ and is nitya. From that only all the modifications happen.
Whiel for the Jivatma, there are no I or g&H TUMHs in svarupa. So Afae@a o is also not
there as he is nitya and T#%T all the time. Prakruti does not remain T#&9 but gets different

states and is =Y. But in the primordial state it is 3T=7<F.

[ ATer is according to vyakarana 79T 3T&¢TH — from &Tq 791, So it is not being seen and it actually
means that the matter is present in some other T&/ form as the TATFH( is also nitya tatva (this
we have to keep in mind). So when water is heated, it disappears and we say water is lost. But
it exists in gaseous state etc. So the earlier form is destroyed and it gets a new form, name etc
while Atmans do not undergo such changes in essential nature but remain same all the time.
The prakruti also does not get completely destroyed but gets into §&q form and is also called as
FH or TAWH A during T@I-GTE state. But it undergoes Fa&I-T10TH all the time — it is =T
aqataiar. But siia remains the same and does not undergo ANY change in T&T and so is

called srreaq:
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YRIOT: RIS 79 9T AqEaagHTeT 504 - The word 79 shows s, It is told later here as
‘A aq TedTd Hraa . Everytime the atma tatva is experienced as new. One cannot say |
have experienced completedly now there is nothing more to it. Every experience of the atman is

new experience is the meaning. Such is the nature of the atman.

q: R T T g I ATCHT — For these reasons the Atman does not get killed when the
body gets killed.

Shloka 21:
AgTRAA At T TAwSHeaT |
wo | e 9T F "raata giea w21 ||

O Arjuna (paartha), one who (yah) (knows this) indestructible (avinaashinam), unborn (ajam),
unchanging (avyayam) this aatman (enam) - knows it as eternal (nityam veda), that person (sah
purushah) whom and how will he injure (kam katham ghaatayati), which aatman will he kill (kam

hanti)?

O Arjuna, that person who knows this indestructible, unborn, unchanging aatman as eternal,

whom and how will such a person injure, and which aatman will he kill?

T ST ST SATTEET o e T ST T: O 3 & o6

AT AT R RAAY STCHY ¥ AT AT A TTqAT % AT o giedr; e Areafq #9 av
TTASTH AT Fqd: TAT AT HTTATIH FIeH ST AL STACTEIITATH - HATTHAH, T
TATH: |

T ATAATIAQAT ST AAgeadd o (MdH TAH AT I: &N 9 — Here stfaAT{Are, srsiear and
w7 are gqs for @, By the word & — any changes or modifications such as I9& or
& etc are indicated other than ¥ and ATer. One may say that there is no birth or death but

will there be any changes or modifications? That is also ruled out here.
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q & SaATSA A FeATaara R qy Ay ¥ AT ATHTH o F1agTd % a1 9 gfwq; - & in mula
is made specific here as atmans who reside in the bodies such as 3@, ¥, fad% and =Mz,

Among them how will he injure anyone; who will he even kill and how? This also shows atmans

in each of these different bodies are distinct and different and they are many and all are eternal.

o ATerafa o AT qorsTRr wafa gert: — There is no TH%f<F in words =TaaIfa and gfva. That is
shown by ATerafad meaning how will he be even YTt in the act of killing?

AT AT FTAATH g S A= STHea T T U9 SATNYE: - It is not that for

one who is aware, there is g=gca=oer but even those who are not aware of AT of s cannot
kill directly or through someone else. This is because Atma svarupa is eternal. So feeling sad or
getting grief on such account can only be due to not knowing the real nature of TH&a=9. So in
this sloka not only g=Jea etc is negated but also any q2T== on account of that. The word &%

shows it is not possible to get even grief on account of killing because atman cannot be killed.

Tt Ry srert sy B, aefe woferareay oriiRy T afeanrsd
AR afea T, =i s e -

The next sloka is commented upon by first raising an objection. Even though Atmans are eternal
and there is just the separation from body for them, even so it is cause for grief. Why? When
one has a very good body which is an instrument for all kinds of enjoyments, if that body goes
the next one can be ATXF-fad%-F2Ta< etc. and so it can cause grief. And, another body may not
come also like during pralaya. So losing this body can be cause for grief. Just because
something new comes, it does not mean that it is better. Leaving an old palace if one has to
stay in a new jail, it cannot be cause for joy. Similarly leaving an old pitambara, if one gets a
brand new jute dress, how can it be cause for joy? It will bring only grief. So how can one say

that separation from body is not to be grieved? For this doubt, Lord Krishna answers thus:

Shloka 22:

www.sadagopan.org Page 67 of 73



FrEite Strorte 79 fagra Far« qugria arsaror |
T erior fRgr shronfa s g sanf= 38 0 22 ||

Man (narah), torn clothes (vaasaamsi jeernaani), he throws (vihaaya), just as (yathaa) and other
new clothes (navaani aparaani) takes on (gruhnaati), in the same way (tathaa) the aatman
(dehi) bodies which are used up (jeernaani shareeraani) having discarded (vihaaya), new and
different bodies (anyaani navaani) takes on (samyaati).

g O AT AFTUO STTAFahATI LRI AT T 3 | shortfa areorf Rgr
AT FTITE AT [gvad 59 g ATATH TF T STAR |

It is not seen that we get new bodies immediately after leaving this #7% and other bodies just
like wearing new cloths after discarding old ones which happens immediately. If such a doubt
arises, the answer is that 9T/ says that for those who leave their bodies in €57& get a much
more superior body than what they had. The meaning of FaTi is FeaTorT{™ — more superior. It is
gURTHTHT — means earlier Arjuna was having grief where there was no scope for grief but now
he seems to be having grief with respect to something which is g4faw= - has scope for lot of joy.
Krishna first told him that killing enemies in this dharmayuddha is not to be grieved and now He

is showing that it should only bring happiness as one gets a much superior body.

Shlokas 23, 24:

Ay arfafar g afefE 3 adfie | (far 2117) =i gates st g sreae
Fdfd —

A frefea eretfor A g i arae: | 71 A9 FgETar T e AT 123 0
T SAARTEISATFAISATST T 7 | RAeqaTa: SARAATST a1+ Il 24 ||

For the aatman (enam) weapons (shastraani) cannot cut (na chindanti). Fire (paavakah) for the
aatman (enam) cannot burn (na dahati). Water (aapah), for the aatman (enam) cannot wet it (na

kledayanti). Air (maarutah) cannot dry it (na shoshayati).
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Weapons cannot cut the aatman. Fire cannot burn the aatman. Water cannot wet the aatman.

Ari cannot dry it.

This aatman (ayam) cannot be cut (acchedyah). This aatman cannot be burnt (ayam
adaahyah). This aatman cannot be wetted (akledyah). And it cannot be dried (ashoshya eva
cha). This aatman (ayam) is eternal (nityah), is existing at all places (sarva gatah), is

unshakeable (sthaanuh) and is always existing (sanaatanah).

By nature, this aatman cannot be cut, cannot be burnt, cannot be wetted, and cannot be dried,

because the aatman is eternal, existing at all places, is unshakeable, and is always existing.

Whatever was told earlier is being told again for firm understanding and easy grasping.

TATIFATIE: BEAGTFASTLNIUIT HHTH TTT FGO T AFATe | HAACATE, SHTCHA:
AAAATIFEANTITAT A+ TV GEAET AT O ATAARATE ATAFAAETT o
WEASEIFASALIT A | 3T SATCHT A T T=er: 17 qATa: RuEawTa: Soeheey: qae: 7 |
The first sloka is not commented upon separately as the aspects of Atman being ungraspable

by sense organs, not being an object of knowing by senses etc are all included in the second

sloka explanation itself.

TATIFAIE: BEAETFASTLITUT SHTH T g 7 rgafea — Weapons, fire, water and air

are incapable of cutting, burning, wetting and drying the Atman. The reason is

qATqETg A — Atman has capability to go anywhere. How can the Jivatman who is &1,

subtle go everywhere ?

AAAATIFEANTITAT A TV GEAET T O ATATRATg ATAFAAATT o
YEARAFAGALINUTR — The Haraea of Jivatman does not say he is fa9 as it is against many

shruti pramanas. ‘ATRI/3 TTATTET TTT Fieqdaed =T AT St rae =337 ete.

TAaaATIHEAATATAT in bhashya means Jivatman has siqsraerfaera=iv=dr. During srushti
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paramatman does anupravesha with Jiva into various bodies and differentiates into names and

forms — 39 STTAT STCHAT ST TAeT ATHEY SATHLATO. Jivatman is more subtle than all other

tattvas. So he is =19 and the achetana tatva is =aT.

AT AT A TATO: Sr=er: 3 FeTae: fRuceasTa: stys: qXa+: 9 — Because he is more subtle

than the 3/=a= tatva, he cannot be cut or burnt etc. by sword or fire etc. and hence he is

ATeiRa.

The words ¥IT9T;, 379<1: - show jivatman’s nityatva, that he is incapable of being destroyed, not
an object of destruction by weapons etc. (ATer-3TT ¥, AT9F-Tfawa). OR he does not undergo
any changes by nature or due to any 3qTfer etc. The word S-TdE: means TXTa+: meaning TS,

Shloka 25:
HSAHISTH A TSTA AR ST |
FeRTed fRAfeas argan=rgaee n 25 ||

This aatman (ayam) cannot be established from pramaanaas as an object which is seen
(avyakto), cannot be established by inference (ayam achintyah). This aatman is said to be
incapable of undergoing change (ayam avikaaryah uchyate). Therefore (tasmaat), knowing this
aatman from the shaastraas (enam viditvaa enam) do not grieve for the aatman's sake

(anushochitum na arhasi).

The aatman cannot be established from pramaanaas as an object which is seen, cannot be
established by inference, and is said to be incapable of undergoing change. Therefore, knowing

this aatman from the shaastraas as such, do not grieve for the aatman's sake.

BRATRATAT T &: THTO: ST q: FTH ACHT 7 ST Z1Q TAq<h: | 3(q: SRATIRIASTA: |
e T AT AT T qacasragwar R aft 7 & | 9@ =7 wfawrl: g |
TEATE SFATLAH, TAH AT fAfear aepa 7 Srqen=rgd e |
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SRATRARAT FEG F: THTI: ST F: FAF ACHT 7 A 3 sT4q<h: — Removing any doubts
that Atman can be inferred as told in previous sloka also, the answer to all the objections are
given by this bhashya that Atman cannot be seen by those 9HTITs by which the objects which

can be cut, burnt, wet, dried etc can be seen/known. So Atman is called r=a=<t.

IFq: EnfefAwsTda: — For that reason only he is of a different class than those objects which

can be cut etc. The body and others are known to be possible of getting cut etc. Atman is not

known like that. Atman is known only as ‘| know’ — ‘SITHT® TeaTieEqva IUET:. Other aspects of

the Atman such as fferaa, AU, AEa&acd, AU etc are known only from Shastra and hence

he can never be be known by any other means used for knowing achetana vastu.

The meaning of =< and 3751k has been told in HT&reH of Mahabharata as:

[N e N enN LA N

SN T do SAh AT i | st o e |

The Atman is also known as ‘existing’ because we infer like that as we are not able to see
anything. We know it exists and hence it is told as ﬁl@‘ﬂ'ﬁl‘l@l When we see activities in a body,
we know there is an atman. Our own atman also we know exists but are not able to see it or feel

it etc. So it is kind of inferring only.

Bhashyakarar makes a wonderful statement here as — g=fefa@=ITd: - Atman cannot be told
as T to something which is known and hence he can only be told as &I to those

which are known to be possible of cutting etc.

R F gaaEgASTA @ s Tagwmal R ragH A 7 31g: — Atman being of a different

class compared to any other object, he cannot be even thought of as having such nature as
those objects which are sensed by sense organs. Atman by nature is consciousness and the
achetana dravya is inert and belongs to a different ST So it is told HEqE TIFTT — the reason
aq is it is of a different class from all other tattvas and the so it cannot be thought of as having
the nature of those tattvas — such as akasha, vayu, tejas, prithivi or jala — a tejas dravya has a

form and can be seen but Atman is not so, vayu has sparsha but Atman does not have and so
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on. So Atman cannot be thought of as having the nature of these tattvas as it is of a different
ST and so it is FFdataasTTdi. It cannot be known by giving an example of another object of
the same class TSI but it can be known by giving examples of different class fa@stTdiae. By
this bouddha, charvaka etc who accept srea-31fR<ae are refuted. STaT=s say there are only four
bhutas — vayu, agni, ap, prithivi and do not accept akasha. They say when the four bhutas
combine a shakti is produced just as an intoxicating power is produced by mixing fruits and
makind them to decay (FFwaTfasaT A=erf<h). That shakti which is created when the four bhutas
join is atman. And, it gets destroyed along with the body. They say g Ta WaARTcHT T=TIT HIET
£f3a: | etc. Here Bhashyakarar establishes that Atman is belonging to a totally different class

than any other tattvas and hence it is not like any of them and atman is avikAri, nitya etc.

qq: = AfawE: {AFHREE: - For that reason only he does not undergo any changes. The 3=a is
all the time undergoing changes — SqafashaT — prakruti, mahat, ahankara, akasha tattva, vayu
tatva, agni tatva etc and pancha bhutas made of these tatvas after panchikarana and then
bhautika padarthas etc. Seed, tree, cotton, thread, cloth, gets burnt/destroyed, gets deteriorated
and merges into pancha bhutas etc and in this way, the achetana is all the time undergoing
changes in its essential nature itself while the Atman does not undergo any change and is

wHFET. This can be told in the form of anumaana as ‘ST FFR-TE: PR EATEHIHTITLAET,

(Tq T @RI AT aaq [AaTen) TavEasqd, similarly whichever is known from

fasRTRcaITE RS HTOT that is FfEwTE, 79T FeTfa:, o =afae: |

Or this can also be told with HTHT=T =T as — Iq ATGA-AHIATEHAATILLIH, T ATG-3AHL T
A, TAT Ao T AT |

The sloka as #1fa=T: - this may mean that sometimes it is srfa=T1¥. To remove that doubt and to
establish that at anytime it is avikari, fasT2-319%: is told — it is not possible of undergoing any

change by nature.

TEATE SFAAAVH TAH AT fAfSear aopd 7 sqenf=rqd s — So having known such an Atman

as established, you should not grieve with respect to it. The |1 is that ‘Arjuna, you who know

www.sadagopan.org Page 72 of 73



the nature of the Atman, do not deserve to grieve on its account’ — STcHATIAFT TFTFIAT T 7

T1q is implied here.

www.sadagopan.org Page 73 of 73



	Gita Bhashyam - Tatparya Chandrika - Chapter 02-Part1
	Gita Bhashyam - Chapter 02 - Part 1



